APPENDIX A
SAMPLE POINT LOGS

Lep/y

10

0s
0T

0T

T

1/3u

(20°0) TO-T "oN weai3s

Lep/y

10

1/8u

L9T°0€ 099
TYLTHT 0T¢
89T°S6€ 00T°T
€T0°64T 00L°T
ZSE°90¢ 006
se€scoLle 008
6L9°69% 00T
650°50Y 000°T
SY8°LT L8S
1k ¥4 029
Lep/y T/3u
SSANQIVH
Z "oN sT1dueg
%06°950°T 00TT
TL6°€ST 009
¥6°L0€E 00zt
LET 99T 006
¥59°z0¢€ 006
LTL %8¢E 0091
78L°96 968
95T°6TT 056
Lep/4 T/8u
© SSANQIVH

(¥9°0) T °"oN wesiig

1 *oN o7duweg

YT 1L
%90°6z
9€6°0S
S66°1E
91008
060°sy
765°6€
88879
Ty y8

S80°6S
6LLLL
90L°2L
TL8°GL
290°S8
€LL°8T
T2
0sz Tz
689°LT

Lep
\%«

LTE 99T
7€9°66
9T9‘STT
SSE‘TL
SweE‘THe
9TY 1T
699°89T
€68 /9T
8€9°8.T

0€6°€0T
€90°60T
66£°89
026°THT
ZT1°09
708° 66
2€6°6/
(A4 M XAS
68€£° .8

Kep/y

009
0s/
SL9
00L
SLT
o€e
S6¢
YA
SET

09¢
0ez
144
01z
0Tz
os?
009
(4]
0Lg

1/3u

058
SLT°T
SL6
008

00%
SLy
114
062

S0%
STy
0S¢
4/
474

1/3u

Lep/
+og

TTLT

€L6T
S6L

AR
Y0€y

Kep/4
+ad

08y
009

1/8n

189
oy
€11

9z¢°1
629
SV
€07°T
LTe

€16
058
0S8
98L
Y18
€9

1€
8y

Lep/y
TVIOL

82yt

Kep/y
TVIOL

006°‘%
00Z°tT
00S°T
008°1
006°2
009y
ETA M
91Z°9
SZE‘9

§95°g
SI5°T
STSe
9.1°C
010z
225°1
00¢

006

000°T

1/8n
a4

00€°%T
00,9
000°6
00€‘S
000G
0068
256°0T
v6L°€T
8LI0T

TSTT
768°0T
S9¢°g
899°9
8€¥°9
88¢
00L%y
008°9
00T‘%

T/8n
a4

Lez z

- 0

- 0
LSY 0T
T0%°9 ¥T
6Sv°T 8T
et 0T
7282 71
718 8
$86 9
soL‘z 8
620°C 9
SyveT ¥y
029°T '

- o

- 0

- 0

- 0
Lep/y  1/3m
ALINITVIIV

- 0

- 0

- 0

- 0

LTT°2T  oT

- 0

- 0

- 0

- 0

- 0

- 0

- 0

- 0

- 0

- 0

- 0

- 0
Lep/y  T/8um
ALINITVIIV

0ze‘e
0LZ°1T
779°¢
0%9

VLT
€60°T
et
wiL

620°G

¥56°C
620°¢
850y
T8L°S
T98‘%
L99
T8
174
k749

706

£
v\*w

99521
L9L°6
99€°91
9TH L
0422
LTI
90€* 12
659°02
$28°87

0s% LT
8TE°ztT
9969

6STST
060°8%
€T0°TT
296°7T
%90°ST
9vTTT

8L6°0T

£
mw\%w

ud

8¢
8¢
8y
YT

0T
1
8T

zT
9T
[48
91
LT
[44
49
o€
9z

1/3u

YL
071
8€T
8

oy
09
oY
0¢

89
8y
A
k)
002
08
071
0zT
z8
oyt
06

T/3u

00°¢cz
029

00" %T
8%'8

€898
GE° ST
06° %2
06°6¢
$9°99

S¥°0¢
YL°29
9L°29
€0°L9
ST°sL
VL'l
%9°S
Sv°9
L8°8

s%°9

*s° 12

06°'T¢
OT'ST
00°22
8L°9T
T8°%ce
97 %S
88°59
856
92°8LT

19° Ly
19° Ly
9L°0S
6€°29
7%y
%6's¢T
%002
6Z°€C
8% LT

€9°2¢C
L6°GT

‘s°1%0

061
00%°T
08T°T
[YAANS
06€
0SL
059
05S
osy

001°T
0012
00L°T
008°tT
0sY
056
008
008
0SS

MO NN NN O
v e e
VO N NN N T T

TN A NN 0
O NN N0 O N NN

qet

NO~NOI~NNHNN
FFaNnnnonnom

ONTOMANOO0N
MM T

qet

N r=ounwor
\O O © 0N

'a«oor\mm
.. « e .
NN WO e

QO M 00O
TN N o

PTo13
nd

N \O 0 00N
. I
N n i m

N~ N NN
Eali el e ta)

WOV SN~ N
MmN MNMN OO

PToT3

€7/6
0z/8
ST1/L
11/9
€1/S
T/
Lz/€
Lz/e
Te/1
%161
0T/ct
0¢/11
9z/1T
€/11
T€/0T
8T/0T
Lz/6
T1/6
€2/8
L18
0e/L
6T/L
L1/t
€L6T

4Lva

Sz/6
0z/8
ST/L
TT/9
€1/S
/Yy
Lz/€ ¢+
Lz/e
ze/1
Y161
0T/2T
0T/2T
0€/TT
9z/11
1€/0T
8T/0T
Lz/6
21/6
€2/8
L/8
0€/L
0z/¢L
61/L
LT/L
€L6T

qIva



Lep/y

Lep/4

1/8u
10

ELL°E 000°s

- 00,y
78T°¢ 008°¢
LT 0o%‘s
%99 oys°T

Lep/ 1/3u
SSANTEVH

20S *ON 991n0§ 3uTdg

1/8u
10

(08°0)

% *oN erdueg

y0€‘s 00T
%05 °88¢ 08L

L06°%59 009°1T

876°SLT 00%°T
860°T6€ 000°T
78%°€59 000z

%922t 060°T

§TS°SL 0ET°T

Lep/y 1/3u
SSINTIVH

1 °"ON weailg
€ -oN ordueg

¥IS°S
79
6.9
TLL
TeE‘T
TLO°T
8€6
$69
Ti8

Kep/4
%0s

628°L6
62£°69
SLECLY
090°6%
¥65°€09
969°L9
666°8L
T9T°L0T
6LE°LST

€0Z°29
SLLCL6
T6T°90T
662°€L
95564
€0Z°08
S20°1L

Lep/ 4
Y08

0S9°T
0sY°T
00%°T
00€‘T
00€°‘T
STET
0S%°1
SLO0°T
SLO°T

0SE°T
0S0°T
0ST‘T
00S°T
008°t

T/3u

00T‘T
[AARS
000°T
626
008
(94
0sy
STy
68¢

S6Y
0sz
(4%
006
002°T
00Z°1T
064

/30

7 0Z1°1
- 0
- 0
- 0
- 0
4 ove‘e
- 0
A 026°L1
0T ovy et
- ovz°e
€T 02L‘9
1 08y‘y
T 004
8 000°S2
Lep/ 4 1/3n
+od
S6Z°T.  095°¥%T
- 0
- 0
- 0
ST6°S  0%8°¢
6LT°T o%8°L
- 0
0€6°S 0z5°€T
T€8°1 08y ‘Y
627 09¢ ¢
829°C 0TL9
96T°2 0TL9
- 0
99 000°1T
€€ 00S
Ve 008°c
Lep/y 1/8n
++od

Lz 002°8
z 006°¢
1 00€°z
9 006°0T
LT 0091
0T 001°21
y 0z%9
6T S86°6T
(¥4 Tseee
- 805‘LT
97 096°¢€T
€ 6ST‘6
z 00v‘s
9T 000°0ST
Lep/ 4 /30
TVIOL ®4
189°T 006°ST
128 00Z°6
628 00£‘zT
66% 006
ZIY*0T  008°€T
LLE°2 008°ST
#88°C 6TY°91
88%‘9 ogLse
wecs €78°21
tye‘e G9€°8T
LLyE 068°8
L9zte 000°0T
8¢ L0STY
62L 000°TT
698 000°€T
629 000°¢
Lep/4 1/3n
TVIOL @4

™ 4
89 86T
€8 Ut
L0T 081
LET 7€T
(8 80T
[ 711
08 %zl
43 Ty

- 09
6T 01
S ¥1
z ¥

- 0

Lep/4  T/3um
ALINITVITIV

- 0

- 0

- 0

- 0

- 8]

- 0

- 0

- 0

- 0

- 0]

- 0

- 0

- 0

- 0

- 0

- 0

dep/y  1/3u
ALINTTVITV

JARN
9¢
1c
€T
62
1z

ka4
09

ST

€T

Lep/
8

9TE ‘0T
6.6°0T
29T LY
9Lt

%8086
0€S ‘0T
€ES°0T
LST 0€E
LTS'Ye

%62°8
€ELTT
vL9°TE
¥18
0LZ°TT
0€0°CT
68L°0T

ZI1 0T

»mv\*m

nd

Hd

ka4
k49

07t
9¢
(43

8¢

8L
42
0z

o€z
9c
09

1/3u

91T
6T
00L
YT
0€T
oL
09
0zt
09

99
0¢
00T
0T
OLT
081
(4
8¢T
oyt

1/3u

N AAA 400w
cCoocoooco0oC

S NN H OO N

*sr3en

91
0s°0T
06°21
¥8°6
86°6€T
16°LT
JARNAY
SL 9%
%8°GL

1L7¢T
98 2L
29°09
TT°ST
0€°21
o721
8991

0%°¢€T

*st3'o

$72°tT
005°Z
000°2
001°2
005°T
00T°T
SL6

020°T
00

089
029
099
006°T
068°1T
00€°1
0052
000°2

<O NS 0 AN OOVN~NMNMNOO
« . e « e e e e
N0 NN N DWW WOWWYO ™SO

qet

“ e .

oNIFFTN-—HOON
.« . o v 4 e .
MmN an

M AN N 00N
MMM nmmnom

qet

€2/6
0z/8
ST/¢
11/9
¥1/S
€t/y
Lz/e
9z/2
e/t
7L6T
T/t
Lz/11
T€/0T
Lt/6
€2/8
L /8
1€/t
0z/L
6T/L
€L6T

N0 0NN
\O O 0 W WO

ANQO AN N~ T
« e e
MO OO T WO W INY

P

o
a
—
(]
o
Lol

aLva



Lep/#

Lep/4

1/3u

i

922t

SLO‘Y

00Z‘Y

Lep/i /3w
SSANGIVH

*Ojf @2an0g 3UT0g
g *oy ordueg

T/3u

10

Leet

‘oN

ovT LT

0009

SHI°6T 008y

€Ty 0T 00€°?

800°9T 000°6

0TZ‘T 0/8°T

Lep/4 /3w
SSENTCIVH

201n0g JUTO0g
¢ +oN orduweg

$ST
8L

01e
0L
€9
0s€
€T¢
(1199
T60°T

000°Y

Lep/4
%0s

A TANES
800°T
619

€TH°T
060°C
¥8L°€
%96°1T
9€L

Y12 €

G8T*S
950°‘¢
SR
00T°T
6£9°1

Kep/#
Y0s

YA AN
0sy‘T

0S6°T
00€°T
00£°T
00€°T
0sY‘T
058

[0

2LT1°T

1/3u

SeLT
00L°T
SLz't
00T‘T
SIT T
0SE‘T
SLO°T
0S0°T
(YA

00€°T
SL9

STt
00L°T
009°T

1/8u

Lep/}

+Hod

1o

coocCco

0

1/%n

COO0OO0O0OOQO

0
08y‘Y
0z1°T
00€¢
00$

1/3n

i

Nt

002
006

00L
009
00$
008°T
06T°T
6eYy
0€$°T

76C

Lep/4 T/3n

NHONAN A A AAA

- NN~

TVIOL 34

00T°T
00$
009
006
00L
006
y1L
72S°1
0£s‘e

798°1
§96°¢
€02°T
00%
006

Lep/} 1/8n

TVIOL 4

T 8
T 8T
T 4
T k4
- 0
- 0
- [¢]
- 0
- 0
- 9
Lep/p  1/3w
ALINITVATY
29T 07T
8YT 0S¢
9T 09¢
99% 09¢
S6¢€ (414
€66 ove
£6¢€ 0Lt
€S 9L
£ve 071
YeS et
16 0z
SL Y
S €8
8L 9L
Kep/# 1/3u
ALINITVIIV

—

0s
€S
[4%
8¢
€€T

Aep/4
8pd

9¢eT
TL
89

Lep/#
8pd

\O

v

9¢T
70T
86T
8¥T
06

0€T

76

/3

he
91
8¢

1/3u

cge3°0

+5+30

05L°T
00zt

00T°Z
005°2
00L°T
000°z
008°T
009°1
081°1T

08Z°T

000t
0sL°T
00z
005°2
000°2
000°z
006°T
0S8°T
006°T

009°T
000°T
SL9°T
00%°2
002°2
009°¢

~
O N

.

SN O SN 0
. .
~ T T T

0

C
=

N~ 0 NV A NS A
e e e P
O O OO NSNS IS NSNS

Nal
o
—

O\ 0O 1N O 0O
~NOo oo
- =

O NY O N0
« e e
N0 O OO

o]
a.g
—
()
el
U

€2/6
0z/8
ST/L
T1/9
y1/S
€2/Y
Le/e
9z/t
ze/t
161
T1/21
LZ/TT
T€/01
Lzt/6
€T/8
L1/8
€L6T

q41va



Kep/4
I0

1/3u

Kep/y T/3u

SSENTIVH

(00°0) ZO-TO-T ‘oN wesilg

Vvg ‘oN ordueg

L8€ 0T 0zzee 009
- - 08,98 0L2
086°¢ <T §88°162 00T‘T

- - - 000°T
- - €60°65€ 006
Kep/4 1/3u Kep/4 1/3u
10 SSANTIVH
(00°2) TO-T °oN weai3g
g ‘oN eoTdueg
91z o< - -
(o} S T29°S 00L
- - £60°TE 05z
6.9 0T 799°80T 009°T
- - 6L5°¢L 00L°T
- - T6%°12T 000°T
- - ¥6T°TSY 00s°‘¢
- - 88€°C 895
Lep/4  T/3w  Kep/y T/3u
10 SSANAIVH

(6T°0) TO-TO-T ‘oN wesiag

L *oN °Tduweg

et i

88¢
%61
9z
STE
899°¢

Lep/y
Y08

TL9°SE
29€°ST
T80°#T
€8€°8T
9TE ‘L
€8T°9¢
8 Ty
Seveze
LSE°29

0T6°8L

Lep/4
Y05

898°9¢
€ETE
186°C
z1z'¢
160°2E
68y
988°¢
TE€L°8
%95°CT

2256
T92°T2
[AXAR A
058°T
7999

Lep/}
708

009 -
009 -
009 -
see -
stz -

T/3u  Aep/y

+3d

009
529 -
SLy -
SLY -
sce -
0S¢
sle
SLT
SE€T

0v0°1
98% 1T

G9¢ -
002 -

1/8u Kep/y

++34

osy -
SLL -
009 -
00% -
(74 -
0S¢ -
0ST -
002 -
S8T -

0ze -
SLT -
01T -
oy
[44

O~

Lep/y
++34

T/3u

0 T 00¢€
0 T 00
0 T 00¢
0 T 00T
0 k4 00%
1/3n Lep/4 1/8n
TVIOL 4
09¢°€ 86€ 00L¢9
0 %9 009°C
0 9€ 00Z°tT
Y 70T 00L°2
0 966 00T ‘€
0711 789 0099
09€°¢ €TYT 982°6
009°s vZE'T  €ET°L
009°¢ s9€°z €16°8
0 - 098°L
0 961z S9¢°g
1/8n Lep/ 1/8n
TVIOL o4
0 ST 00¢
0 € 002
0 T 00€
0 z 002
0 €61 00S°‘T
0 4 00€°T
0 6T 9Ly
0 65 z9e°T
0 ST £vzee
0 €T 76T
0 £02 189°T
0 621 885
06 1 00T
002 8 00€
/30 Lep/ 4 /80
TVIOL o4

[44 7g
1z %9
61 06
8¢ 09
t474 9z
Lep/y  1/3u
ALINITVYIV
- 0
- 0
- 0
- 0
8761 9
- 0
- 0
YIT T 9
166 4
816°T ¥
Lep/y  T/3u
ALINITVITV
%559 08
<98 y1z
189 8¢T
189°T  012Z
6%9°S  uy
LS6°T 00T
8Tz‘e 8
696°C 89
96£°c  0S
0€0°‘E 0L
SY9°c  of
w8t Tz
z9¢ 98
666 9€
Lep/p  1/3um
ALINITVITV

Lep/ 4
8y

652°C
€LS°T
wlY

66€°T
TL5¢C
890°¢
T6€°9
TL6°C
7706

S6°¢

4o
P/t

r49

0LL
LST
GET
Leh

61¢
62L
819°¢

Kep/y

d

ud

8ud

1/8u

8¢

9T

8T

1/3u

g i d

*s°3°0

€0°TT
95y
0s°¢s
81°L
€9°6S
8T°6T
£7°82
St yve
€26

0Z°ST
SL°0
08°0
6%°1
'z8°¢€e
€9°¢
82°L
0T°8
09°21

€0°8
®6°2T
L6°€T
8L°0
ST°¢

*§° 30

006 S*9 -
000°T S*9 -
056 9 -
006 99  [°9
00$ €9 1'9
qeT  PI3T3
*0°s nd
068 T'% -
00%°1T 9'g -
00T‘T 7€ -
0SZT  9°¢ ¢y
ovYy 'S 9'9
00. 'y "9
00/ 6'c 8%
0SS L% 6§
o8y S 6'¢g
0€s 1'% 'S
09¢ 9°S  6°S
Z _ z'n
qeT PToTF
‘oS ud
00L 6°9 -
00€°‘T v L -
STIT L'9 -
00€°‘T 9L 0L
09¢ 9°9 99
059 19 g0t
(29 §'9  o0'01
00% 9°9 %'9
08¢ 0L %'9
06€ %9 L*9
ove €9 29
062 9'9 8'9
$96 8L L9
00¢ z°L  §'9
98T  PIaT3
*0°S nd

€2/6
0z/8
ST/L
TT/9
v1/S
%161

qJLva

€2/6
0z/8
ST/L
11/9
91/S
€2/Y
Lz/€
9t/t
2T/T
YL6T
T1/¢T
L2/11
6T/L
€L61

qILVA

€2/6
0z/8
ST/L
11/9
Y1/§
€z/y
Lz/e
92/t
zZ/T
YL6T
TT/21
LT/11
T€/0T
L2/6
€2/8
€L6T

qLva

A-4



- TS N

- - - - 805 (743 - 0 T 002 88 9¢ 6 9 62°0 oLy S'9 - €2/6
- - - - 8¢l Sih - 0 1 00§ ST 95 - 0 S0°0 o6 S'9 - 0z/8
zT (%4 - - 0LT 0s¢€ - 0 T 00% %e 0L 9 4 600 4] %9 - 9T/L
S S oTY 00% LOE 00€ - 0 T 00¢ WL L 9 9 61°0 008 L9 9°9 TI/9
- - yT1e oy1 S06°€ GLT - 0 6 00y 786 Y 6LT 8 YTy 08¢ $*9 L9 %I/S

YL6T
Lep/y T/3u  Kep/y T/8w  Kep/y /8w Aep/# T/3n Kep/4 T/3n Lep/y  T/3u  Lep/ /3w qeT PISTJ
10 SSANCEVH os ++ad TVIOL 24 ALINTIVITY 8xd *s°3°9  °D°S§ nd ALVa
(00°0) TO-L0-TO-T ‘ON WEa13l§
gg6 °oN srdues
- - - - LLE QLT - 0 4 00T‘T €01 8% - 0 o%'0 0'2 9 - €2/6
- - - - 81 4% T ovee I 00§°ST Y 89 - 0 10°0 0€9 LS - 0z/8
€T 74 - - 18 0ST - 0 4 009°¢ 43 09 S 0T 0T'0 (%49 %9 - 9T/L
L S 02 00¢ €0€ (Y44 - 0 92 005°6T 98 %9 8 9 sT'0 00S $'9 29 TIT/9
- - 69%°02 sL €9L°% SLT - 0 Lz 000°T 80L 92 €9T 9 $0°S 0ST %9  9°9  ¥T/S Te)
: 9L6T ]
Lep/yp  1/3m  Kep/y /88 Aep/y /3w Lep/4 T/80 Lep/4 T/8n Lep/¢ /3w Kep/y  T/3w qeT  PITF <<
10 SSANCIVH Yos +Ho4 TVIOL 24 ALINITVIIV 8yd *s°3°0 ‘DS nd ALVA
(L0°0) LO-TO-T "ON wea13g
vv6 ‘oN oTdues
- - - - LL6°T (Y44 - 0 S 009 18€ % - 0 €9°1 09¢ %9 - €2/6
- - - - 62¢ (¥4 - 0 € 008y ve %9 T 4 0T'0 088 %9 - . 07/8
- - - - [3:19 0s€ - 0 Y 0012 LTT 0L €y 9z T€°0 (4 %9 - 9T/L
- - - - (494 SLT - 0 z 005°T 66 89 € T 1270 00L %9  6°S TT1/9
- - - - 9179 SLT - 0 9€ 000°T 6L2°T 9¢ %8¢ 8 659 ()} 44 79  9°9 ¥I/S
- - - - T02°T Y44 - 0 ot 008°T LLT 49 1z Y 66°0 (1]} 0'9  0°IT €T7/%
- - - - L88°T 002 - 0 11 06T°T Ly 0$ LS 9 SL'T 0s€ 6'S 0'8 Lz/¢
- - - ~ 686°T Y44 - 0 6 Y01 49 8% 88 01 %9°1 (¥4 €9 6'9 02/T
.61
- - - 008 - GET - - - 79€°T - 0S - 01 - 092 €9 ¢9 TT/Z1
- T6S°TT 00% 066°¢ $6 - 0 €2 YL 818 9T 97T b4 %8°S 0T¢ 2°9 8'9 6T/T1
- - LSY (144 65€ 08T 1 00S 4 008 89 vE - - 0 LE°0 0sY TL 1L LT/6
- - - - - - - - - - 16 A3 9y 9T €5°0 o%s - ¥'9  0T/8
- - - - - - - - - - - - - - - - - 8¢  6T/L
€L6T
Kep/4 1/3u Kep/4 T/3u Kep/4 /3w Lep/# 1/3n Aep/# 1/8n Aep/ 4 1/8u Kep/4 1/3uw qeTl PToI3
10 SSHNTIVH Y0s ++o4 TVIOL 31 ALINITVITY 8nd *s*3°2 *D°S nd q1va

(6€£°0) L0-T0-T °"ON weailg
6 °‘oN o1dweg



Lep/y

09T°T ST $87°80T

T/8n  Kep/y 1/8u
I SSANQIVH

00%°T

(10°0) ¥TI-TO-T ‘oN wesx3g
VVIT 'oN a1dueg

728°0S 00
- - - 00S°T
- - - 00¢
- - 79Ty 80¢
Lep/y  T/3u  Kep/y T/3u
10 SSANTIVH
(96°%) T0-T ‘oON weaiag
1T 'oN orduweg
62S°T 0T  T/£°622 005‘T
- - 8TLLTT 005°T
- - y0T1°0L2 008
- - TO%‘TUL 00%‘T
Lep/yp  1/3m  Kepyy 1/3u
10. SSANTIVH

(1€°%) TO~T ‘oN weaiag
0T ‘'ON a7dueg

CTT“4T
€91
8621
£€8°8g
SI8°6C
€VL°/T
S89°/LT
vl
z6€°62

Lep/ 4
Y0g

TSEY
$50°2
€16°¢
759°C
T9S°LT
00£°9
0L0°L
0059
IAzAlN

8LT Y
6€T°E

Lep/ 4
Yos

TL9°0Z
6Ty €T
L28°LT
9IT'g
hLeh
8TIce
S05°Se

LS6°%T
YA 44

LY Lz
77908
$89°C6

Kep/y
os

SZ6
(Y44
006
SLS
1743
1149
sy
0o¢
08¢

T/3u

sy
629
009
00%
T4
SLT
SLT
Y44
01¢

§92
008
0€T
0TS
0zs

T/8u

0S9
628
0S0°T
05y
Y44
0s€
sze

00€
Sve

0se

0ST
S8T

1/3u

88T 0z€°zT
L 021°1T
[43 ovz°z
49 09g°c
- 0
€0€ 096°8
LY 0ZT°T
TLY 0%0°6T
0zs 02,9
Lep/ 4 T/8a
++a4
- 0
- 0
- 0
- 0
- 0
- 0
62 0ZT°‘T
- 0
- 0
- 0
- 0
- 0
4 00S
ot 00L°T
Lep/y T/8n
++34
8L1 009°S
8T 0Z1°T
LS 09€°‘e
TY ove‘z
- 0
iy 0zL*9
88 0711
See 0zL9
820°1 0zL°9
6€Y 009°¢
T68°T  009°S
eTT ovee
Lep/g 7 1/3n
++od

[ [ B
%8¢ 00Z°sz - 0
YET 006°02 - 0
[443 00L°Tz - 0
Tve 00z°ze - 0
L08 0088 - 0
TCTT  o00zfge - 0
%99 - TS6°ST - 0
L S86°6¢ - 0
96T°T  69%°ST - 0
- - ¥5¢ (0}
Lep/y 1/3n  Aep/y . 7/Su
TVI0L =4 ALINITVITY
24 00€°z z6Y 8y
-8 oov‘z 8LT 76
9T oov‘z 9z¢ 0s
1T 00L°T 81¢ 8y
€eT 00L°T %592 vg
7S 00z°z 926 8¢
19 £€YI‘e 820°T o7
60T TLL¢ 660°T 8¢
0€€ E¥S‘y 8.1°¢ o€
- 0T0°C - €
- ov‘e - 0T
T €9¢°T - 8
6 00T‘T €T 9T
<1 005z 60T 8T
Lep/ 4 /80 Kep/p | 1/3u
TVIOL 24 ALINIIVITY
zLe 00L°TT - 0
06T 00L°TT - 0
781 00£°0T - 0
0zz 00Tzt - 0
SL8 005y L9T°T 9
9LT T 008°LT - 0
44 9L%°0T - 0
960°T 281°12 )
65L°T ' T0S°TI ‘2
%06 €TS°TT - 0
YLT°C T gevte SL9 z
¥86°T " .096°¢ - 0
Lep/g ' 7/8n ‘hep/y - 1/8u
TVIOL o4 ALINTIVNTV

e

6T€°C
SeT°T
€266
TL0°¢
889°¢
€6E°Y
T9T¢Y
S1e‘e
99y

90T.

&ep
\*wm

Y91

8%¢
€9
89%

LST
LYyE
92L

Lep/y
wma

TL6°T
€56°T
16L°9
€51
€eece
TSS¢S
60L°Y
88Ty

R14a)

9z6°¢

6ZTC0T

920°€T
"t LzTie

Lep/y
8pd

d

1/3u.

[

¢ST €8°¢C
08T 6I°T
00L €972
00 ¢8°¢
¢9  T0'!L1
0ET £Z°9
00T 2i°¢L
€T 66°%
09 Ge'v1

<t ¥9°1

1/3u
se300

9T~ 06°T
7 19°0
8¢ TZ°1
8 €T°T
9 8y %1
[4 (4984
0T L%
¢TI 9¢e°¢
0T L¥'€T

0T -
T -
9 -

. .m *3'0

9 .06'S
02T zZo°¢
00% GT°¢
08 LE°€
cT £0°9¢
%8 9z°t1
09 96° %1
%8 ST°6
Ty letse

0S 954
06 %929
92 $6°26
06  65°%

/8w °
‘s* 30

[EPR ]

- 00L

CO0ST T
080°T
000°T
06%
SL9
009
06L
0sy

0S¥
0S¢
08¢
76
058

- *0°s

Lo d

O N 00N
MO NNm

qeT

.

FTONNTITNTOON®
LN AAT NN m

.

N I 0
< <+ o

!

0
d
—

PTo13
Hd

O\O\G\@HNII‘
s e e e .
ST FTomn

%Z/6
0z/8
LT/t
t1/9
ST/¢
ey
Lel/e
0z/c
vZ/T
%161
8/8
6T/L
€L6T

q1va

wz/6

0z/8
LT/
T1/9
S1/¢
Ye/y.
Lz/e
0zZ/z
w2/
vL6T
T1/21
L2 11
T /11
L2/6
€2/8
6T/L
€L6T

| HLVQ

A-6



Fin A Nkl

8T (1] - -
€1 < L88°T 00L
- - 928°L 00%
195 0z €0L°9S 0002
= - 9LT0T 009°T
- - LEE 69 002°‘T
- - 760°6% 00T°T
- - 967°C 68L

Lep/y T/Bm  Lep/4 1/8u

10 SSANCIVH

(6T°0) %0-%T-10-T °ON WE313§
€T °‘oN oydueg

Ly sz - -
€Y 14 08€°‘T 008
- - 619 oT¥
01T ot 687°LT 005°Z
- - ovL s 00S°T
- - 795 ‘€€ 00£“T
- - 800°SE 005°T
- - ¥82°T £96

Lep/g  T/3w  Kep/4 1/3u

10 SSANQUVH

(60°0) zO-%T-TO-T °'ON WE213§
Z1 °*oN sTduesg

L

887°Y
€65°T
9vy e
8T
8989
099°s
LT Y
86%°‘T
8C0°6T .

86%°¢
ZI1°0T
%699
76L°T
8wE‘T

Lep/ 4
08

661°C
186°T
70€°2
6€9°T
T99°¢
99€‘T
929°T
88T°1
89T‘¢

S0TC
SoLL
00v‘1
oze‘e
06%°C

Kep/
08

SL0°T
14
§e8
0SS
0S¢
004
0sy
0oy
SL9

08s
GLT
0sT
096
088

1/3u

00Z°T
05S°T
0zZ°T
056
(Y4
SLS
YA
0s€
oLy

056
00€
09
00%°T
00T°T

T/3u

9¢

12

8T
0T
71
S6

k442
0s2
7T
oy

096°8
0

0

oy8“L
0

ovz'e
0zI‘T
ove‘e
09€‘€

0
009°S
009°S
008°‘Y
000°ST

Lep/4 1/3n

L3t
SL
o7
49
s
€etT
7T
(778

€91
8T¢
99¢
[49

8TT

++33

oYY 69
008°zL
08Z°12
ovzoe

0

0v0°61
0TL Ye
095 Ty
089°ST

0952y
0ze T
089°ST
00022
00028

Lep/} /30

+o1

L9 008°9T
9€ 008°CT
6% 00%°91
6€ 009°%T
991 005°s
0c¢T 008°‘YT
8 018°8
€01 0€L°9T
6EY 69%°ST
89T ALK TA
66€ 168°9
TLLT 01129
9L 000°9T
08 000°0¢€
Lep/# /%0
TVIOL @4
9T 00T°LL
<6 00%°26
syT  00T°LL
62T  008°%L
GEE  00L°6T
66T  008°8S
19T  €vi‘ey
€Lz SLy 08
9T SS9°LE
89T  L98°€EY
616  001°0C
y1L  T165°0€
80€  000°0€T
6%  000°0TT
Lep/# 1/80
TVIOL 4

Lep/4

[=N=NoNoNaRo Nl o)

Ilooococo

1/8u

ALINITVATV

Kep/y

coooo0o0O0O0O

[N =N N Ne]

1/8u

ALINITVATY

veL
S0S
SL0‘e
S8y
LS6°T
608
126
X YAl
18€°S

925°T
688°C
8L9°C
096
088
ozy

78T
08T
00L
08T
00T
00T
00T
%0¢
061

o%e
0s
09
0ce
oce
002

»mn\*w d T/3u
H

916
(489
Tee‘T
6SL
L1
9s¢
S9L
€98
LOY°T

962°¢
Levee
00%°T
8TS‘T
897°T
9vL

Kep/ ¢
wmm

00$
00S
00L
oYy
00T
0ST
002
kAT4
871

009
6
09
0%9
09$
00%

1/3u

7L°0
280
60
050
€9°¢
[
LT
711
92°¢

81T
TL'0T
87‘8
%60
S6%°0
6€°0

tge3°0

cge3%0

0SL‘T
00%°2
00€°T
00T‘e
056

0S0°T
00T‘T
08%‘T
088

o e .

e o TNMOAONOD0N
“ e o e « e s s e
Ll Tna e ling) MO NNNONN®

.

qeT

« ..

OO NYONNG
. « e s e »
N NMONNNNN

oo NN
. .
NN ™M

qet

[Tl S S Tl g
. . « o
L N Naa Ki B Mat

.

ONt=HO N
N0 TN

PToT3
ud

%z/6
0z/8
L/t
T1/9
ST/S
wely
8z/¢
0z/z
v/t
7L61
1T/t
Le/11
T /11
Lz/6
€2/8
Te/L
6T/L
€L6T

a1va



Lep/4

o]

m«
0s - -
oS 615°S 008
- [44 289} 01¢
0z 00% ‘0€ 008
- ¥EY°TOT 006
- 90L°T 999

/8w Kep/y T/3um

SSANCIVH

(IZ°T) %1-T0-T ‘ON wWweails

Lep/#
10

/30

ozyy

¢T °ON srdueg
29T 009
SLE 08$
6LL°T 005°T
08L°0T 000°2
68S°TT 000°S
998°€T 0s2°S
Lep/ /30
SSANCIVH

*ON 901nog 3ufoq
%1 "ON °Tdues

LLS°ST
99¢
769°¢
678°Y
Y61 TT
%68°L
60€°L
TI6°9
3 A

€2L°61
99T°2

116
618°T
9LL
SLT
ST
012
80T
0LT
L21°T

LIT Y
SLz°t
€11 2
€2L°T

Lep/4
Y0s

068
0S0°T
00T°T
00L
44
seL
0oy
144
GCE

SLT
028
068

1/3u

00€°T
STIT
00Z°T
059
STy
059
00§
T8
056

SLL
0SS
008
SL0°T

1/3u

64¢ 0Y0°6T -
T 07Tt
rAs 0wz e
29 006°8
44 08h‘y
FAXA 082°T1Z
0z 0ZI°T
S6T 0TL*9
934 0zL¢9
- 0
1 00S
- 00Z°tT
Kep/ /80
+od
LS 07908
9€ 00v°ze
9T 08Z°12
11 095°2h
- 0
€1 oy Ty
T ovzee
9T 091°‘8Y
34 082°1T
69T 07£°89
97 00Z°TT
Ly 0Z6°LT
€ 0zT°T
Kep/ 4 T/8n
++od

€Ty 00T‘€T
€1 009°%Z
[A%8 0052
(444 00Z°Z€
8¢€€ 0089
z€s 006°8%
€T 619°CT
£ve 798 TT
L8€ 8LT0T
%8 187
vL 000°82
- 000°z€
Lep/i 1/3n
TVIOL @4
08 008°€TT
LT 00T°CL
0s 00T°LL
L1 005°€9
92 006°6€
L2 00128
€T S06°T9
8¢ 050°58
65 695°6Y
61 YT LL
8¢ 0ST‘S2
€11 89L°TY
65T S18°29
Kep/} 1/3n
TVIOL °4

Kep/4

T OOO0OO0OOO0OOO0O

(=Rl

1/8u

ALINIIVITV

Kep/#

coooocO0COo0C0

[=N=Ne o)

1/8u

ALINITVATV

TTLT
L6
779°¢
08€°T
T6%°1T
086
9zv°1
9TZ°1T
025°T

s0L°¢
L89

TvE‘E
969

Lep
\*wm

0s€e
Y19
€Sy
98
vl
4%
£y
81T
9s¢

9Tv‘e
€Ly
11¢
TL9°T

Lep/4
mma

d

8Y¥T
08T
00Z
002
0g
06
08
4]
0%

T

09¢
0Lz
912
06T

1/3u

00S
08¢
00L
0z¢
0ze
00T
00¢
99¢
00¢€

0S¥
02T
08

099

1/3u

o« s e

NS ANMWOOY OO
ONMONNG AT
NN HOOM

16°02C

6%°0

(8°C
89'0

‘s*3'0

NOOOHO M~
[=R-NoNoN-Nei=o =]

NWOFTONINNOM

o e

N~ MoOor~A
AN O N”

.

9°c TI'%
o'e 1°9
6°¢ 0°¢
- 8°¢C
- €€
- 9°¢
qeT PTTF
ud

HOoONOY NI~
5 NN NN NN

SO O
NN O~

qeT PI°T3

ud

T Owoo AN
nrnoannm

VO NWVWANN
. T e e s
NN

@M o
@ oM

%2/6
0z/8
IT1/L
2T/9
ST/¢
vely
8z/¢
92/t
vT/T
vL6T
/11
L2/6
€7/8
01/8
1€/t
61/L
€L6T

qIVa

%2/6
0z/8
L1/t
T/9
ST/S
vT/y
8c/¢
0z/t
%T/T
9161
TT/2T
Lz/1tT
T /1T
81/0T
€L6T

q1va



- - - - 779°¢€ 00Z°T - 0
- - - - 9Th‘e STTT - 0
T S - - 1162 002°T - 0
16T 0S hye 006 €5T°¢ 0s8 - 0
- - - - LTLT oSy - 0
- - - - 881°9 6zZ0°T - 0
- - - - L6S°E 009 - 0
- - - - £90°C Y4 - 0
€£6Y 0s LzLe6T 000°z 8LT°S Y49 - 0
- - T85°€T 005°¢ 62 137 - 0
- - €89°LT 009°T €88°¢ ove - 0
- - LTTTE 001‘2 LOLCS S8¢ - 0
- - - - 1€0°¢ 4% - 0
Aepf/y 1/3m  Aep/y 1/8m  Lep/y T/3u  Kep/4 T/30
10 SSANCEVH 70s +3d
(00°0) 90-T 'ON wea13g
(T 'oN erdmeg
- - - - 0SS 009 - 0
- - - - - SLE - 0
- - - - 809 §T0°T - 0
- - - - L1L 00¢ - 0
- - - - 880°¢ 0sT - 0
- - - - 1612 ozy - 0
- - - - TL9T 0T¢ 9T 0ZT‘T
- - - - €€2°¢ (%4 LT 0ZI‘tT
689 (¥4 150°€e 0021 €L9‘9 [3%4 0 0
- - 688°6T 005°T 91T ¢ S€T - 0
- - T8T°0% 000°T LTSt 0ST - 0
- - 18€°L2 000°T T8¢y 091 - 0
- - 81¢S ™9 %9¢ 0sY € 000°%
Lep/¢ T/3u  Lep/y 1/8u  Kep/y 1/8u  Aep/4 /30
0 SSANMIVH 0s +od

(T€°2) YI-TO-T °"ON WeaIlg
9T °*ON oTduesg

N AN

— O 0 O

00t
00T‘T
00s
007
00L

T 00€°T

YL
88S
L

889
8¢Y
8eY
YT

Kep/4 1/8n

TVIOL 24

006°T

- 008

€T
ki

1z
€T
k4
€T
119

0T
9L
86
19

00zt
006°¢
000°T
009°c
S06°T
TESCT
£€10°2

AR
[AASA
685°¢
000°GL

Lep/} /30

TVIOL 24

Tlt 06
86T 8ET
29 80T
826§ 8¢€T
L0S %8
9.9 it
€6S 00T
TLS 06
68L 08
€Ll 8
006 z8
€52 TST
8LS 9
Lep/y - 1/3u
ALINITIVATIV
6 0T
= 96y
1T 9¢
STT ZTT
(44 0z
Vi 0€
k433 29
T19¢ LA
9€6 ©e
86¢€ 0¢
%00°T \4
wit 0T
98T 0§
Lep/y¢  1/3w
ALINITVATY

0¢
L8
8¢
[4%
L6

LTT
66

0LT
w8y
L9¢

fep/g_~ T/3m
8xd

Ty
9¢
0L
Tt
(x4
SL
08T
0ze

LSS
%00°T
62¢

Lep/#
8ud

0T
0
9¢€
0T
4
9T
0
0¢
(128

8T
8T
8T
0

9%
0
09
89
9
k24
71
T
8

<y
(474
(49
0

1/8u

.

OrHHHMNT SN
.
HHd A OO0 CO

MOONNAWNOCW

0N ed 0
N~~~
NN

‘s°7°0

*se3*0

058
0s%‘T
00L°T
00€°2
06%
0SZ
000°T
0SS
0€s

096
00€
00§
008°T

8°9 -

[ANA =

S'9 -

8'9 L'S
9 T°9
89 &'01
€9 00T
9°9 8°9
9 L9
9 L9
€9 9°9
$'9 0°¢L
€9 €£°9
qeT PIST3

nd

AHONINO VM
OO OO N~ N

.

n oo\
3
~ W YN

qeT PT913
nd

we/6
12/8
8T/L
8T/9
91/S
oe/y
87/¢
0z/t
62Z/1
YL61
T1/21
Lz/tt
/11
81/01
€L6T

arva

v2/6
0z/8
LT/L
0z/9
ST/S
vz/Yy
8tT/€
9z/t
ve/T
HL6T
TT/21
Lz/11
T /1T
L2/6
€L6T

qALVa

A-9



8T9°0T

€T0°82 0Zh‘1T
986°SS 00L°T
#1965 002t
6S€°62 059
00S°69¢ 000°¢
Kep/# 1/3u
SSENMIVH

(Z1°0) 80-T ‘ON we2i3g
6T ‘ON aTdueg

€ ST
S92 x4
£€€C8  06¢
[48 9
Kep/# 1/8w
10
LTE°E€9T 005
Lep/y  T/3u
10

09L°L0T 0SS
§T9°%eh 00€°T
- 005°T
Kep/y T/3u
SSENTIVH

AOO.mV T "0 weaa3lsg
T ‘oN erdueg

L6%°L
0L9°9
§STés
¥88°0T

84281
8G9 YT
$TL8T
€9L°6
09.°6T

L9T°ST
6S€°6¢
806°2¢
%29°LT

7996

Kep/4
o3

06678
€I8°LY
€06°0S
7€9°TS
YL5°89
2T9°%0T
£€9°€€T
£0S ‘%S
$86°9%T

Lep/y
0s

00€°‘T
STI'T
ST9°T
S70‘T

S26
§C6
SL8
SLS
009

009
059
STy
cZ0°1T
00€°T
00T°T

1/8u

00Z°T
0SL°T
00zZ°T
0s8
0S¢
056
SL9
0oy
osy

SLS

1/3u

wLT ovz og
- 0
16 000°8¢
9Ly 008 %Y
- 0
61€ 091°02
- 0
95y 088°9¢
91¢ 089°ST
159 09L°52
- 0
709 00Z°T1
- 0
~ oov ‘e
Lans 000°€T
Kep/ 4 /30
+od
SE6°C  OWY Ty
8Ty 089°ST
808 0%0°6T
60T°C  0TL°vE
- 0
LSE°T  0zE‘TT
TSST 0%8°L
LSEE  0%9°%T
6Tz 02L°9
- 089°ST
Kep/# 1/3n
+od

0Lz  008°9%
TTZ  009°SE
IST  00L°9%
%S 00T°TS
SE€T  006°TT
68€  00S°‘%¢
TS9  9lveog
§Z8  0LS‘8Y
6%0T [%8°T¢
ST/, 88T°8t
€68  0O%%°sI
OTIT 165°0¢
%S9 050°8¢
- 000°%T
S6€  000°GH
Kep/# 1/8n
TVIOL @4
SSL°T  006°8E
LET‘T  009°TY
TTL'T 009°0%
§89°C  00Z°%y
668°C  006°6T
869°‘C  00S5°%¢
LSy S60°€T
098°y  §99°Ge
#€8°6  098°LT
- eI 1T
Lep/# 1/8n
TVIOL @4

PR

- 0
- 0
- 0
- 0
¥8T°1 09
- 0
- 0
- 0
- 0
- 0
9€S°T ve
- 0
- 0
- 0
- 0
Lep/y  T/3m
ALINITVATY
- 0
- 0
- 0
- 0
- 0
- 0
- 0
- 0
- 0
- 0
Lep/y  1/3uw
ALINI'IVITY

Lep
\ﬁw

9128

616"
6Th Ty
6%1°CT
96 1T
TI0°TT
L6L°6T
657°8T
TET92

sep/4

ud

78T
09T
006
00¢

7%

ovT
002
6T
%ST

761
8¢t

0LT
8LT
0oTe
0S¢
07¢

1/3uw

9TT

08T

ud

000T
007
09
00T
00T
7eT
08

96

/3w

‘s°1'0

7TeT
£0°S

L8°L

(21T
GE°9¢E
€¥°0T
€L°9¢
87°6T
09°09

‘s 30

00S°‘T
0052
00€°T
00L°T
060°T
0SE‘T
0ZT‘1
0SZ°T
026

O
NN NN

MO
MM Mo

Imc\w\—lNN
MmN MNMmom

qeT

NS S O T
nmnAamMmMmnmaN ™M

wy
[aa}

qer

PIoTY

ud

PI313

ud

[T}
Ll

~OoO NS O
M F N T O

ORNMINO0NTFTN
. e e
N MMM N

.

sz/6
0z/8
8T/L
8T/9
Y161
9T/S
og/y
8z/¢
0z/t
62/1
9161
T1/21
8Z/11
T /11
8T/0T
0€/8
€2/8
T€/L
6T/L
LT/L
€L6T

qLva

vz/6
12/8
8T/L
8T/9
9T/S
o€/
8z/¢€
0z/t
62/1
vL6T
TT/21
LZ/1T
€L6T

qLva

A-10



seeiLy  0ST L9y 00%°T

- - LA N

005°¢
L3T 005°2

- - 20L°0T 09%°T

fep/y T1/3m  Aep/f T/3u
- 10 SSANTIVH

(GL°0) 80-T °ON wea13§
1z °oN ofdueg

LZAS 114 6€0
- - LoL

€66°TT  00S TL6
- - 862
- - 6YL
- - %62
- - 662

Kep/# 1/8uw Lep
1D

‘6 00€‘T
‘1T 009

‘Ly 000°2
‘8z 005°T
‘L8 0002
‘ve 0S2°T

‘4 oSyt

/# /3w
SSHNAIVH

($0°0) OT-T °‘ON We213§
07 ‘oN 9rdueg

€86 €T
T69°6
95% ‘ST
v65‘6
08€°ST
S8Z €T
900°2T
8LT°ET
[4A N4

00Z°%2
0€S°‘6

Aep/

Yos

98%°g
90€°9
LL0°8
L8€°6
8708l

0€Z°0T
0L6°6T
9ey L

%8L°ST

688 TT
8TS‘8C
€€8°LT
TS9°CT
9g€‘s

8LL L

Le
u\%q

0s

00S°T
0SS°T
0S5°T
000°T
059
009
68
059
0¢8

0SL
SLy
00€°T

1/3u

STL'T
008°T
0s8°T
0s€‘T
§T6

00€°T
SL6
SLL
SL0°T
0S0°‘T
059
059
00%°1T
008°T

00€°T

1/3u

v62 08%°‘ze
k2 ozt
T6€ 007 ‘ 6€
LES 0009%
- 0
sey 00Z°TT
- 0
ZEL ov8‘SE
809 0v0°6T
- 089°ST
TS 00Z°TT
L 000°T
Lep/4 /30
+od
L0T  096°%9
Y 0T1°T
86 00%°22
0zZ9  009°98
- 0
0ZZ 000°8¢
- 0
085  08%°09
819  09L°GT
ey 080°8E
Ty 080°0T
778 O%0°6T
- 0
€T 000°SY
LTZ  000°8€E

Kep/# 1/8n

++3d

LS 00T°€9
€vE  008°%S
£€9s  00S°wS
[T9 00£°%9
669  000°.LT
769  008°9T
CAL B TA A1}
966  G6L SY
¥ILT 060°S8
- 60L°6C
TEIT 98T°CC
LEE  000°9%
Lep/ 4 1/3n
TVIOL 24
99z  009°€8
867  00Z°S8
66€  00£°16
T99 000°S6
L€8  006°TY
0S¥ 00T°LS
168 0I8‘EY
TLL SLYe08
008  OvE‘€e
08y  €TH'Ly
788  00T°0C
w9l 0ET°LT
66T 0S£°TT
9z¢  000°0TT
T0%  000°L9
Kep/# T/8n
TVIOL @4

8€6°T
T0S°T
99611
85e¢e
99¢°2
LS9y
L€0‘T
L81°¢
T0L°9

[}
[eNoN-NoNeoNale i)

viL
€507

I
[eN=R=)

Lep/y  1/3w %mo\*w

ALINITVATY Hd

806°T
Tee“t
€6Yv°¢E
LLY“E
206°¢

L}
ocooCco

81S‘C
SEL'S
9/8°¢
9wy

1
cooC

086°%
056°8
9%9°T
we1‘e
T09°T

1
[=ReRoR=le)

€15°¢
S65°T

dep/y  T/%m Lep/g
ALINIIVITV md

71e
(%44
0021
0S¢
00T
0T
0%t
96T
012

002
1
08¢

1/3u

009
08¢
008
00S
002

(143
08¢
0%
0.2

ovy
02T
09

092
ovs

ozy
0ze

1/8u

89°T 006°T
9T°'T 00£‘C
$8°T 00£‘C
8.°T 000°C
6£°%7  00%°T
0z°L 00T°T
0L°T 06£°T
6L°€ 00E°T
76°S  0ST‘T
- 020°T
9%'6  O%8
9€'T  00%°‘C
- 00%‘C
se30 ‘e
65°0 00T°C
$9°0 006°C
18°0 . 0S.°C
62'T 00%°z
79°¢  008°T
9%°T  000°C
08°€  GLS°T
8.°T 000°C
Sy 00S°T
01'z 012°T
¥1°'8 066
60°S  000°T
$9°T -
S50 00%°‘T
- 00Z°c
TT°T  SL6°T
§Z6°0 005°T
9 T -
5030 55

€ -
w -
9 _
6 S°€
[3 [483
€ AR
1 S
4 1%
€€ L°¢
€e Y
z°e ., 0%
6°C . 1°¢
_qeT <PTOT3
Hd
O-M: -
9°z. -
9'z. -
8'¢.  T°€
L't 1€
6°C. 0°¢
0t %'t
0°¢. T°E
T'¢ .. S°€
e
L'e
8°¢
1°€
€
1°€
9°€
9°¢
L€
qeT  PTT3

nd

sz/6
ze/8
8T/LL
8T/9
9T/S
T/8
8z/¢€
L2l
0€/1
YL6T
11/21
T/11
9/6
oe/8
€L6T

qIva

v2/6
0z/8
8T/L
8T/9
91/¢
vL6T
oc/y
8z/¢€
0z/t
0g/1
9161
TT/¢t
82/11T
T /T
8T/0T
T1/6
0€/8
€2/8
1€/t
6T/L
LT/L
€161

qLVa

A-11



Lep/ 4

Lep/y

Kep/ 4

T/8m
0

Kep/#
SSANTIVH

1/3u

(60°0)%0-80-T *oN wes13g

T/3um
10

V%7 *oN °o1due

Lep/y T
SSANTIVH

(S%°Z) 80-T1 ‘on weailg

1/3u
]

$g ‘oN aTdmes

€TLETT

026°ST
0Ty LT
ST9°0¢€
TL0°E

Lep/ 1
SSHNTIVH

S

/8u

00S°T

008°T
009°T
009°T
0.8

/8u

(S0°0) 70-80-T 'ON wea13g
€7 °*ON oTdueg

- 059
= 000°T
= 000°T
mmv\§¢ 1/3u
0s
- 000T
- oSy
T8 %44
TI8°T o042
%9 0s€
58y 00t
- Y43
SE0°T 00§
w€T € 009
%mv\*w 1/3u
0s
89T‘C SLS
86T (49
SSHT - 009
6ST°T sy
T18°T 00€
€92°9 0s¢e
™Wi°T (V44
T96°¢ G9¢
180°¢€ S6€
809‘% 0zg
0sv e (Y44
TLOCS [$°14
€6T T oTY
8/0°T 002
Lep/¢,  1/3w
0s

Lep/#

Lep/ 4

- 0%9 %2

- 00%‘z
- 008°S

1/3n
++od

1/8n
+H34

I
COO0O0OO0O0OOO

- 0
k44 ovz'e
- 0
T 00s
€ 00S

Lep/
++ad

T/3n

Kep/#

059°8¢

000°SY
000°LY

1/8n

TVIOL 24

CT
8¢
14
9¢

6
€8T

Lep/#

005‘%
00%°eT
00€‘G
00L°L
0T8°¢T
T9L9T

L66°S
STSC
000°%€

1/3n

TVIOL 24

~

wm\DMCOI\\Th'\ln

n o
N N
-

MO -
—

Kep/4

00€°T
006°T
009°T
005°T
00%°T
00€°T
6TY°T
9ve‘e
70°T

768
0ST‘Y
886
00T°z
006

1/8n

TVIOL 24

= 0
- 0
Lep/#  T/3w
ALINITVATV
- 0
- 0
- 0
= 0
- 0
- 0
- 0
= 0
- 0
Lep/y  1/3um
ALINITVATV
9¢€T 9¢
19 ¥4
e T
€LT 9¢
S8 %1
76¢€ ra4
€8 0¢C
€LT 8
L6C 8¢
887 0z
L69 %9
0€T ra
99T 05
45 ot
Lep/g  T/3u
ALINITVITV

96¢

08¢
08¢

%mn\ﬁw . /3w
H

- 00¢
- 08T
wZe o%T
[ANSE 0ST
L9¢ 002
6G¢ 8YT
- 091
%0¢ 88
€96°T 062
Lep/y  1/3u
8ud
09 9T
1T ¥
€L 0€
98 8T
ZL [4)
€Y1 8
LT Vi
0¢ C
%6 7T
[Avr4 an
TET T
£ST 8
- 0
- 0
Lep/py T/3w
ud

YR OF

O~ N~oT NS
HEHONHOOOO

NHNNNO N O

AR

[=RTa BTNt
—HOMANN

‘se 10

STE‘T

009°tT
00T‘T
006
0€6
056
006

009

058
00T°‘T
0T0°T
000°T
008
059
00L
099
0s9

0sY
1749
ovy
006
0S¥

NFT OO HWOwoo
WO W N W IN WO NN O

R

.

M N
.
O ™0 O N

qe1

Lz/e
%L6T

0€/8

€2/6
€L6T

qLVa

8T/L
8T/9
9T/¢
1/8
8z/¢
Lz/z
YL6T
TT/21
/1T
9/6
0z/L
8T/L
€L6T

aiva

A-12



Lep/ ¢

0s 60S°T

008
- 70€°T 00T*T
- %0Ty 009
- 1€T°S 00%°T
1/3u Kep/# 1/8u
10 SSANCIVH

(20°0) ZO-0T-T °©ON wes13§
9z *oN oTdues

097y

Kep/4

05z LL6°%T 00%°T
- 800°9T 008°T
- - 005°T
- 658°67 006°¢
1/3uw Kep/# 1/%u
i SSANTIVH

(88" 1) OT~T °‘ON wea13g
Gz *oN oTdueg

919
v6€
ey
991
€11
162
96€
Lve
ST

yig
9ST T
180°T

IS
mv\*q

79L°¢
G05°T
€86°T
88T ¢
L9€°9
£88°¢
760°L
1€2°9
9¢T L

LIAAL
yIYs
026°S
69%7°S

am@\*q

629
1749
GLS
00€
0S¢
sTT
0ST
08¢
0Te

174
91
$6¢

T/3u
0s

G701
GL8
$29
szL
SL9
0SS
Sty
00%
00%

SLy
09¢
SLS
068
ocL

1/8u
0s

- 0
- 0
Y 009°S
- 0
- 0
- 0
- 0
- 0
- 0
- 0
- 0
- 0
Kep/# 1/8n
+Hod
x4 0zL9
- 0
[44 096°8
L ovze
- 0
- 0
- 0
- 0
- 0
- 0
- 0
- 0
- 00S
S 00L

Lep/¢ 1/8n
++2d

1 00¢
1 006
1T 00T %I
1 0027
1 00¢
T 00¢€
ki £99°T
1 1%L
T 886G
T 885
S 1874
4 889
Lep/# 1/8n
TVIOL =4
0T 00L°C
Y 009°2
€T 0026
1T 009°¢€
0€ 00Z°¢E
€T 008°‘T
4 €71T
96 686°¢
6€ 91T
(A% 686°¢E
8¢ 798°1
LE 686°¢E
- 009
9T 00S°€E

Lep/ 4 1/8n

TVIOL 34

6 o1
- 0
- 0
9 A
€ 01
9z 0c
(43 A
0z 9T
1T 9
4 0T
oL ot
- 0]
Lep/gp  T/3w
ALINITVATY
- 0
- 0
- 0
- 0
- 0
- 0
- 0
- 0
- 0
- 0
o 4
- 0
- 0
- 0
Lep/y  1/8u
ALINITVATV

81
7T
L1
9
4
8T
1T
S
6T

we
78
€0T

y8Yy
£6T
TS
9z€
€76
()84
IA723
80€‘T
6TE‘T
(XA 0
€66
et

66T°T

07
T
8T

Lep/y  T/3u
wmm

el
(481
20t
80T
00T
8S
0s
%8
OET

091
99

oyt
06T
09T

Aep/ 4y ‘ 1/3u
H

« o e

NNTNOO A~
[e X=X =N ===l

NN Oy O Ot T

.

0 oo
[RCRGEY
oo

“g+3'D

6€°T

©s1°D

068
050°T
526
008
00L
00Y
143
00s
08y

00%

(049
068

00£°T
06S°T
0S¥yt
06T°T
052°T
006

008

060°T
000°T

058
059
060°T
06%°T
062°T

.

N~ O 00 I~ 00N~
NN N N N T

n oo
~ o wn

qet

~NWOVOH N T O
nagETONMNNnm

.

NN NN
Moo

-
L)
~

.

~n Ot N
NN TN

N~ S
LTl
AN oga

PT2T3
ud

9z/6
0z/8
ve/L
L1/9
2t/s

62/¢
Lzl
0€/1
9161
TT/2T
8zZ/TT
T /1T
0€/8
€L61

9z/6
0z/8
9T/L
LT1/9
zzT/s
T/S
62/¢
12/?
0e/T
%161
TT/2T
82Z/11
T /1T
0€/8
€7/8
€L6T

qiva

A-13



Aep/#

TT0°T

Kep/

10

Nt o

0s - -

o1 L6T°8T 009°T
- 848 0y 0ST T
00¢ €T6°ewT 005°2
6 99/°86 009°¢
- ©797°80T 00Z°z
- 186402 0S¢
T/8u  Kep/ 1/3u

SSANTIVH

(T2'0) TT-T °ON wea13s
gz ‘oN ordueg

10

0se 68y 00Z°T
- SzLeT 009°T
- 88T°9 00%°T
- %89°9 000°2
T/8u  Aep/# T/3u
SSANQIVH

(8€°7) OT-T °"ON weailg

Lz ‘*oN @7dweg

9L5°6€ 00L°T
[AZATAN SL6°T
76£°6C szTie
8% ST ST9°T
80%°9¢ $T0°T
- STT 6%
T€8°LY 009
769°TY 00€°T
0€6°8Y 0s8
0SS °TE 0ST‘T
L86°TE 059
618°TS 056
LT0°2E SLET
- 009°T
Lep/ 4 1/3u
70s
66% %43
€66 00TT
9% SL6
£z¢ 009
619 00<
786 00%
LTS 002
1Y (Y47
€22°2 0S¢
€Y 00%
69T°T 092
€62°T SLE
mmv\me T/3u

0s

90£°T  080°9S
ovy 00% 0§
661 08%°09
€TL 0TL°29

- 0
ST0°T  %ST‘t
9€S 0zL‘9
119 0%0°6T
GZZ'T  082°1C
10T 096°9¢

- 0
72¢°T  00%‘ee

- 0

- 000°sy
Lep/y /30

++od

T 0ZT°T

- 0

2 0zL°9

€ 009

- 0

- 0

9 ovzz

- 0

- 0

- 0

- 0

k4 0ZT°‘T
Lep/y /30

++a4

LSE
9¢s
118
908
Tey
0%70
€08
18¢s
€68

70
e1
8€9
62

fep

N 00O N M T

o~

0T

Kep

‘T 00£°8S
00Z°09
00%7°19
006°0L

‘T 000°0%

‘L% 008°9L

‘T 619°CC

‘T sLveo8

‘T S6TzE

‘T #%0°8¢g
‘T gshiee
‘T 8sE‘sy
816°TT
00042

/# 1/3n
TVIOL =4

0099
0069
008°9
008°S
000°¢
006°T
T8€°¢
G9¢°g
%98°2

8EY‘9
0T10°z
ovo‘e

/# T/3n
TVIOL 24

Shh ‘e
$60°C
926°L
€¥8°T
29Ty
£TE Y
085S
SEL9
9656

|
[eNeNeNeNoleNo Neje)

%869
ovLée
781°¢
16Ty

i
[=NeNel-No)

08T‘c

Lep/p  T1/3uw
ALINITVITV

SL
8¢l
9t
96
€1T
L8
8L
18
08¢

i
CQOWVWWOCOOOO

(748
¥4
enLie

I Ot

Lep/¢  T/3m
ALINITVITV

Lep
\*w

nd

8T
ove
009
0S¢
0cT
06

0L

01¢
991

ove
9L
oy
08T
08T
96¢

Kep/4 1/3u
8yd

ovT
8€¢C
00¢
8LT
91T
09
0¢
%8
76

09T

8Y
0Z1‘tT

1/3u

‘se3°o

000°2
00Z°¢
006°¢
00%°T
008°T
00zT
00T*T
0s€‘T
009°1

0$z°1
00T°T
002°T
00%°2
008°¢

*0°'S

NN NHOMNO
Mmoo nmmn NN

N S os S
MmO mn

£
o
—

.

WANRNRININE OO
AT FFNnmnon

00 ™~
DRSS

el
[
—

cz/6
12/8
8T/L
8T/9
91/S
st/y
og/€
6T/2
62/1
7L6T
TT/2T
6T/11
T /1t
8T/0T
€2/8
6/8
€L6T

arva

92/6
0z/8
ve/L
[T/9
ze/s
1/8
62/¢€
Lzl
0€/T
v16T
1T/21
8Z/11T
T /1T
0zZ/L
£L6T

arva

A-14



| B

R

e LA e e S S

TLH°T 0s TLecze 00T°T
- 0 L4 %Y 00y
z0% 8y 05z 8¥Z%LT 006
- - cTY6S 00L
- - £28°¢9T 00L
- - 8L0°LYT 000°T
Lep/g  T/3mw  Kep/y /3w
10 SSANMIVH
(€£°9) T °ON uweai3g
0¢ *oN ordueg
109°2 05z  STL8T 008°T
- - - 005°2
- - EIAAFAS 00L°T
- - 009°%e 008z
Lep/g 1/8uw  Kep/y T/8uw
10 SSANQIVH

(10°0) TO-TTI-T °ON wWes13sg
6z ‘ON ordues

0TT°8T
0z6°0T
€9Z°%t
STLYT
90€°‘8

T€S8T
68L°¥E
#L0°ST
788°¢€E

6L6°9T
¥ES GE
60L°SY
[AX AL

Kep/ 4
03

0.6°C
T60°T

L9L°T
YA A4
641 ¢
z0T1°C
08L‘¢
THE‘T
T9%°‘S

€18y
%56°€
0TE‘T

Kep/#
08

00L
050°T
ST6
00S
00T
00€
GeT
522
SLT

007
0sT
G81
sty

/3¢

00T‘T
ST

YA
068
SLy
059
STy
06S
49

009
SLY
[4
149
008°T

1/3u

Kep/4

1/8n

+o4

67

0T
71
[43

Aep/#

+9d

0

0
080°0T
0
0
ovee
09€‘€
0Z1°T

009°S
0

08y Y
0

00%°‘C

T/8n

009 00Z°€T
9L 009°%L
60L 000°9%
LTI°T  00€£°8E
869 00%°‘8
¥90°T  006°9T
TI8T°T 4TSy
T6T‘T 78L°LT
LEO°T 6SE°S
8LL 6ST°6
£86 0ST*Y
8.6 096°¢€
[£3 9v0°1
Lep/ 4 /30
TVIOL 4
0T 008°€
Y 00Z°Y
(%4 009°8T
ve 008°1T
09 00T°6
91 006°%
L1 98Z°%T
89 L66°ST
09 LLL'S
- £68°9T
z8 OTT‘8
Sy 9T‘s
6 010°z
- 000°06T
Lep/4 T/3n
TVIOL @4

- 0
- 0
- 0
0 0
0 0
0 0
ST 9
9S8
0 0
605 9
%6 ¥
886 ¥
0 0
fep/4 1/3w
ALINITVATV
6IT ¥
- 0
- 0
- 0
SST 8y
- 0
€y 01
- 0
- 0
- O
- 0
09L Ut
- 0
£ep/y T/3u
ALINITVITV

S16°T
VIR
7576
9LL°T
G6Y°T
0€8°¢e
790°¢
8%6°C
€7€°C

869°T
€98°C
6y
L€0°T

YL
071
009
09
8T
29

7
43

0t
TT
(¢4
09

Lep/y  T/3w
8pd

[4%
x4

0TE
i1
9T
[49

Shy
20T
798

118
059
(39

£
mv\*wm

4y
8¢

0s
09
0%
9T
0s
e
k4

8
08
L
fas
00

/3w
d

T

T°1T

‘ge3°0

05 0
81°0

€2°0
€5°0
€T
09°0
S9°1
6L°0
€6°T

cge 30

006
008°1
00S°‘T
080°T
0LS
4]
00%
(14
oLy

P

0RO ONITO®O
TN T ONNO

I\-rootnco
e .
< N

qe1

AN~ HNO M~ Y00 OoN
. . e e e s e s
T St N 0O 0 0NN n o wn

A-15



I

Lep/#

0s £€69°07T 008
- - 000T
- GL0°90T 009
- 8€6 VLT 008
Lep/  T/3w  Lep/q 1/3u
0 SSUNTIVH
(1g°£) T *oN weailg
Z¢ °oN ordues
0S¢ T6L°9 005°¢E
- 656y 000°%
- 9.9°¢ 006°¢
- 00Z°ST 000°9
- G8T‘S 058°T
T/8u  ALep/# 1/3u
10 SSANQIVH

(L0°0) ZI-T ‘ON wea13g
1€ °"oN eTdueg

LITARN
019°7T
€EL Y
£€60°8
STITCL
LATAN)
€SvLT
196°¢
0€9°ze

T€E‘ 0T
12562

Kep/ 4
03

8L6T
€9

S9ET
TI0T
1991
6T8T
86T
€8T
980T

19T
8TST
€£0T¢
909¢
0.6

e
v\*q

0S8

sey
0s9
sze‘T
0s€
00¢
SLT
S1T
SL
0¢T

S6T

STT
SET

1/3u

1/8u

18T
092

€eT
€eT
GGE
GES
€12
8¢¢

Lep/i
+ad

!

o

™~ o Lo o |

Aep/
+4-3,

T/3n

1/8n
ks

€1E 009°TT
88¢ 00€°0¢
329 00L°LT
[0)83 00 €T
8Tc 0026
98 0026
579 619°2
189 9ve Y1
6SY 070°¢
- 9Ly
LE€S ov0°¢
oy 010z
Lep/ 4 T/8n
TVIOL 24
8 008°6
z 00%¢L
S 00T°L
0T 00%°8T
0T 00L°¢L
€T 00€°6
L T56°G
0z €0Z2°TT
T 6€%°9
9T %9821
7T YIL°6
(44 00%‘8
ST 008°8
4 00%°L
Lep/4 1/8n
TVIOL 24

F\‘MLL
LLE 91
- 0
- 0
%2¢ ¥T
061 8
€Ty 8
0z8°¢ 9T
092 91
[4 %84 %1
- 91
89L°T 0T
18T°2 01
Lep/y  1/3u
ALINITVITV
- 0
- 0
- 0
- 0
- 0
- 0
- 0
- 0
- 0
- 0
- 0
- 0
- V]
- 0
Lep/y  T/3w
ALINTITVITV

%20
600
¢
L8€
S6

6Ly
5§66
0oee
60S

ST
%29
0€6

£
mv\*wm

‘1
‘1
‘gl
‘1

‘T

‘1
‘T

‘T
‘C
‘T

79T
9L

0LL
GET
Y0¥
6€S
sTE
Ley
Sy

ove
Y1e
LSS
186
76T
(244

d

8¢
[49

00€°e

09

8¢

87
0T

88T
0€T
00TT
0§52
00¢
00%
%ST
ove
kA%

k244
91¢
0z
0S¢
09¢
ove

£ep/fg a T/3u
H

WV O MO0
noNNN—SHOH
[=ReRoReNoNoNe NNl

~N

z

o~
~Noars~Mm
~ =
Soo0ooO0O

©s°3°0

VA
€€
6°¢C
0'¢ VAR
1°s 9°¢
0°s 0/
9'q 6'9
g LS
9°S 8¢
L°6 89
9'¢ T°9
T°9 0'9
- 6°G
- 'S
qel PTI°T3
gd
s'e -
6°2 -
6°C -
[AR3 '€
z°¢ S'e
e 7€
S'e S'e
v'e S'e
9'¢€ L€
Ve L€
€°¢ L°€
(AR L€
€'¢ 699°¢
v 7€
= 9°¢
- 6°¢
qeT PIPIF
ud

§T/6
1Z/8
8T/L
8T/9
9T/$
sely
62/¢
0z/e
0/t
YL6T
[ATKAS
62/11
T /11
t1/6
€2/8
T/8
6T/L
€L61

qLva

|

A-l6



- - - - 798°SY SL9°T 656 070°5€ 760°T  006°6€ 71T 0T €89°C 86 80°G  00L‘T LY - cz/6
- - - - 0EL°LE 0SL°T - 0 656 005 ‘9% - 0 08€°T %9 00°%  006°C 0°€ - 0z/8
- - - - 0zZ2°ST 00€°T vLT 096°S oLL 00L°6€ - 0 €6%°€ 08T 09°€ 00€°T 0°€ - cz/L
- - - - 0TS“8% 005°T OvE‘T  O%Y Ty 86E‘T  000°CY - 0 T68‘% 0ST  00°9 00€‘T L€ €6  81/9
- - - - 18€°Te SLO‘T 3] ovz'e €91 00Z°8 - 0 €6T°T 09 69°€ 0S9°T 8'c ¢'v T/s
- - - - €E6°TE 058 89T 08y‘y 889 00¢ ‘8T - 0 Sss‘c 89 L6°9  08C°T 8¢ 8'S 1/8
- - - - 186°TE 059 98¢ ov8‘L 899 TLGCET - 0 6%T°C %9 €1'6 G20°T 8¢ 0°¢ 0€/¢€
- - - - 001°22 (443 0£6 0zL e 493 S99¢sg - 0 00$°T 9§ L6°%  00S°T 9°¢ L'S LT/T
£9%°9T 00§ 7176 008z 98Z°T1E 056 £y o7 €T 6%0°T  L¥8°TE - 0 cg9‘z 08 TT°9  0Z§°T 8'¢ 'S o0f/T
7L6T
- - 8T8°9L 008z TTL‘y¥T SZ0°T 0gY 089°ST 6YL $62°LT 6EY 9T 762 0ZT  60°S  00%°T ¢ €9 cr/en
- - 1€9°¢8 008°T  806°07 0S¥ S79 oy ET €58 S9€°8T €6 z sev‘e WL 79'8  020°T 9y 9°6  6T/TI
- - %8766 000°z 80S°‘€E SL9 7t8 008°9T €ST‘T  2Teiee - 0 6L6°C 09 12'6 080°T S s T /1T
- - 6TE‘TT 089°T  8zI‘CT 008°T € 00$ < ocL - 0 €96 oyT ST°T  00%°C e w9 LT/6
- - - - - - - - - - €11 o€ L08 912  0L°0  006°T - 'S 0T/8
- - - - - - - - - - - - - - - - - 6°¢c 6T/L
€L6T
fep/y T/3w  ALep/¢ T/3uw %Eﬁ T/3u  Kep/¢ 1/3n Lep/ 4 T/3n  4ep/y T/3uw  Lep/yy, 1/3u qeT  PTII
10 SSANTIVH 0s ++od TVIOL °d ALINITVITY nd *§°3°0 *0°s Hd qIva
(TZ°T) TI-T "ON wes13s
€ -oN otdues
- - - - - oSyt - 0 - 00%°z - 0 - o8 - 00%°e [ - §z/6
- - - - - STT‘T - 0 - 00Z°¢ - 8T¢ - 0 - 0S0°€ €9 - 0z/8
- - - - - - - - - - - - - - - 0062 - - 81/L
- - - - - 0sv°tT - 0ze‘eT - 00g°ST - 0 - 0s%‘T - 008°¢ T'¢ 7€ 8T/9
- - - - - 056°T - 0 - 009°9 - 0 - 000°‘T - 060°2 AL A T A4
- - - - - 6LS'T - 0 - 000°S - 0 - 0Tt - 0s%‘e €¢ T1'¢ <T/y
- - - - - [ YAARS - ove'e - L68°T - 0 - vE6 - 000°¢ '€ 6T 0g/€
- - - - - 006 - 0 - L - 792 - oy - 00T %9  §¢'9 6T/T
- 0s€ - 005°T - 050°T - 0 - €0Z°T - 71T - T - 00Z°2 6°S  6°S 0¢/T
161
Lep/y  T/3w  Lep/y T/8u  Kep/4 /8w Kep/y T/3n Kep/# 1/8n  Aep/4 T/3u  ALep/y.  T/3w qeT  PTeT3 Y
10 SSANTIVH o0s ++od TVIOL 24 ALINITVITV 8nd *$°3'0 ‘oS Hd AIVa
gz€ °*ON 22anog 3urof
gzg "oN aTdueg
- - - - - 005°¢ - ovee - 00% 1T - 0 - 08T‘T - 005°2 7'e - sz/6
- - - - - 9IvT - 0 - 00592 - 0 - 0T?*T - STt 6°C - 0z/8
- - - - - - - - - - - - - - - 008°z 0°¢ - ST/L
- - - - - 00Z°T - ov8°L - 008°ZT - 09T - 7S - 00L°T 1°9 8'S 81/9
- - - - - 0SZ°T - 0 - 0062 - 091 - 0T - 060°2 6°'s 7'9 TT/s
- - - - - SL0°T - 0 - -00€°T - 9eT - oY - 009°T 6'S T1°'8 SsT/v
- - - - - GL8 - 0 - S60°€ - 0 - [4%4 - 009°1T €y L€ 0€/¢
- - - - - 0SE°T - 0 - zo% ‘¢ - - - 098 - 005°¢ e ¥'¢  61/T
- 00T - 001°2 - 6z0°C - 0 - 0%70°¢ - 0 - 433 - 00T‘2 S'¢ €€  0f/T
. YL6T
fep/yp  T/3u  Lep/y 1/80  Kep/y 1/8u  £ep/} 1/8n Kep/ T/8n  kep/g /8w Lep/y  T/3w qel PTaT3
10 SSANTYVH %0s ++od TVIOL @4 ALINITYNTY 8yd *§°3°0 ‘0°s nd FIVA

¥ZE °"ON @01nog 3urod
vzg °‘oN a7dues

A-17



= RN, s v

€v0°z 0061
- - 0TSZ°9 006°1
- - L65°2S 00S°T
- - 809°80T 005°z

Lep/g  T/3w  Kep/y 1/3u

10 SSANTIVH
(¥9T*) TI-T °ON weai3s
G¢ ‘ON o1dueg
18 00§ 688 005°¢S
- - - 008°S
- - 876 006°%
- - 8ve‘T 005°2T
Lep/y  T/3uw Kep/# 1/8u
10 SSANMIVH

00T €I8°8¢€

G8hy *ON 92InOg UTOg
g roN oTdweg

ZI1°0T
9.0°C
285°0T
SLL
y0% €T
SSLeET
L9T 6T
0058
68L°CT

01967
7Ly TT
9e9°0z

Lep
\*q

89%
e
61¢
6LL"
v9°
0.6
766
€TT
(6034

T2
SLT
€T

fe
v\*q

0Ss

9
€

0s

0S€°T
SLE°T
00£°T
S18°¢
Y44+
szL
00%
SLy
$L9

006
6ze
SLy

T/3u

0SZy
00Z‘2
0s%°1
SL0°T
GZE‘T
000°€
0502
SL2°2
SLYe

00z°2
050°¢
055°2
000°¢

1/3uw

%8 00Z‘TT

- 0

%9 ov8°L

- 0

- 0

%9 09€°¢

LOT ovee

00T 009°s

9% ovez

0Tz 0zL°9

61T 09€‘¢

L6 owze
Lep/# T/8n

++24

1 0

- 0

- 0

90T 008°9T

- 0

- 0

- 0

- 0

- 0

- 0

- 0

- 0

1 006
Lep/# 1/8n

++od

S

8yT 008°61

(44 009°%T

66 00z°¢CT

T 000°T

£6€ 006°S€

Y11 0009

T8¢ 8€7°S

0€Z %9821

TST 69€°L

8.¢ [AA RN

LYT 0ST Y

[AA 096°¢
Lep/ 4 /30

TVIOL @4

1 006

1 009

1 00T

YA 008°6T

1 00%

T 009

1 9Ly

1 7T5°T

T (334

0 8¢y

T 7T6°T

T 88¢

T 006
Kep/# 1/8n

TVIOL @4

I
OO0 OoONOCOO

[>Re}

Lep/y  1/3u
ALINITVITV

ki
29
9¢
0
9€€‘T 98Y

1 oo~

[ e B
~
—

OO O

Lep/¢  T/3w
ALINITVITV

605
[4as
ovT*T
ST
9271
8ET T
80T‘C
I8T°1
88¢°C

969°C
S9L°T
08.°c

fep
\*wm

9

9
LSL
0LT
€C
€y
1
LT

€T
€T
1T

fe
v\*m

d

ud

89
76
ovT
k49
(491
09
ka4
99
1T

43
0s
%9

1/3w

9S

8¢
07T
29
0L
88
91
79T

80T
0zT
1z
0eT

/34

~NNOoONo onam
MMM NOHO A

AN NMN N HON

[=}
~
©

§6°9

“s+30

O =H OO S NN
OO0 O0ON-HOOO
OO0 o0oOHOQOO

¢0°0
¢0°0
ST0°0

ss3e0

009°‘T
00£°T
0SL°T
009°¢€
0T0°Z
000°T
058

080°T
00Z°‘T

0€0°T

058

008°¢
008°¢c
005°¢
008°T
050°2
00¥ ‘¢
000°¢
000°¢
00€‘€

000°‘€
005°C
000°¢
008‘¢

R

OOV H-HT A=
g NnONnnm

N = O
N

£
()
—

NSO oS
. .
SN T O OO

~ ~+ oo
=

qel

A-18



- R e e

6SY €T 00T  €S.°08 009

- - 009 %Y 00S

- - 906 1T 009

- - 9Z6°011 00S

Kep/4 T/8u  Aep/f T/3w
10 SSANTIVH

LL2°T

Kep/i

(g6°8) T 'ON wea1lg
L€ *oN eTdueg

0S €018z 00T‘T

- - 00Z°1
- 709 006
1/8u  Kep/ 1/3u
10 SSANQIVH

(16°2) TTI-T 'ON we213§
9¢ ‘oN eTdueg

91z,
[/ [84
6L9°¢
869°T
S0LCL
€€L°2T
06€ ‘8¢
€85°92
88T°0¢

AN
90% €T
0€5‘ST

Lep/#

0s

089°S
<01

95L

12203
ovy e
§€6°8
8L%*8
906°%
920°L

18€L

e
u\*q

Fadde e R

44
00¢
0S€
0ST
0sT
SLT
SLT
00t
0SsT

93
0L
oL

1/3u

G6
0s8
<8
0SL
SLS
SLY
SLT
SLe
SLT

742
§ST

1/8u

1
COO0OO0OO0OO0O0OO0O

1
[=N=Ne)

Lep/y 1/3n
+2d

|
COoOO0O0O0O0O00O0

1
i
o o

Kep/4 1/3n
+Hod

T

O MO

%01
86
6S

s

78
TEE

Kep/#

002
00%
00T
00T
002
002
9Ly
7L
6Ly

886

8€Y
T6¢C

1/3n

Te30L 94

T

NN N

Lep/#

00€
008
00€
002
00¢€
00S

L
T6¢

%4
8€Y

1/3n

TVIOL 24

€82°T 0%
818 86
TLOT 70T
798 8L
L6TT Ty
65L°T 8¢
L68°L 9¢
IXYAL (A3
80y o€
TiZ°¢ 9¢
189°C 1
90T°¢ 7T
Lep/4  1/3w
ALINTTVITY
091 9z
S 8y
% 8y
8L (1}
08T [1]3
0%9 vg
LT9 0z
8LT 01
144 0T
- 91
9TT %
Lep/y  1/3w
ALINITVITY

9TE‘T
86L
8¢S

12
99¢L
612°C

FTOOT T T O

= O

0T

ep/ig T/3m

ud
19 0T
- 0
ST 91
8 k4
09 0T
97 7T
€Ct ki
€yt 8
66T 0T
- 0T
68¢C 0T
9T 7T
fep/y  T/3m
8pd

G6°G
66T
S6°T
S0°¢
€96
65°8
0L 0%
99° %2
L6°%T

66 91

£€6°6¢E
9T T%

‘s'1°9

~NOAMNIT AN AO
FTnnnn—Hoood

G N O SN

Le°s
77170

cgr3°0

08¢
0TL
SL9
oSy
0o%
ove
R TAA
0L2
0s¢e

ove
06T
(¥4

ST 1
0sy°T
0521
08T‘T
000°T
0.9
006§
0<9
089

NN~ W00 N
WO OO \O N WO DO

< HN
.
\O \O O

qer

Nt N O NN
P N
1N W N O N O OO O

[ =)
[TalTal

qet

9z/6
22/8
ST/t
61/9
2z/s
1/s
o€/€
9z/2
6Z/1
7L6T
T/t
6z/11
1/8
6T/L
€L6T

A-19



[ OO R S S S
e 4 - -
8€T ST 69T°¢ 002

- - €80°9 $9T
SE6°T 0s 096 °0€ 008
- - 065 ‘%1 00€
- - 06€°TL 00$
- - 7€9°29 000°T
Lep/g  T1/8w  Kep/y /3w
10 SSENTIVH
(8£°8) T ‘ON wea1lg
6¢ ‘oN ardweg
19T 9 - -
€81 0s €eL 002
- - ST6°€ 0z¢g
- - - 0
88T G 0S T€9°2L 00L
- - %9€°8TT 008
- - [A4 382 00L
- - 9TT 6T 000°T
- - LLzé¢ 08¢
- - 9LL°T 0LT
Lep/y  T/3w  Lep/y 1/3u
10 SSANTIVH

(00°0) 8I-T °'ON weaa13g
8¢ ‘oN ardueg

86T°9
€LLeE
€v0°Y
%69°C
T5v°9
G65°Y
£12°S
(%80
0/8°¢

088°€
S66°6
780°6
T09‘€

Lep/4

S09°LT
$68°g
9TO‘TT
800°T
™i‘e
2€6°T
7.8°8
AR
88T°¢

A AR 74
69%°9
8€L°6
79LE
09L°C
096°‘T

fe
v\*w

067
0S¢
00€
0LT
SLT
YT
4 SLT
T SLT
00T

08
0L
SYT
0LT

T/3u
Yos

743
00¢€
SLE
sLe
GLT
00t
007
SL

0S

9T
SET
0L

o€z
0ze
0zT

1/3u
os

L 00€
008
0
9 00%
L 00¢
9 002
69 9LY
x4 6eh
- 76T

|
o o

|
[eNeNeoloNaNa)

S82
€9 8¢eY
Lz 8ty
9 76T

889

i
[=R=Neio]

Lep/ 4 T/%n
Hmuoﬁ.wm

Lep/ ¢ /30
++°4

002
00§
€ 00T
- 0
00T
€ 002
9Ly
8 6T
6€Y

i
CoOOocO0OO0OO0OO0CO0OO0O
o~

OTT
jx4
v

L
8EY
z6¢
4 XA
€ 00%
€T 008

™ | 1
oooo

Lep/ 1/3n
Te10L =4

fep/y  1/%0
+Ho4

766 oY
980°T zL
666 vl
70ZT°T 9L
SLYT O%
8%9°T 7§
e’y 0¢
098°T 0O¢f
€6€°T 9¢
6%9°T %€
0L5°c 8T
LL8 23
80§ %z
Lep/y  T/3u
ALINTIVIIV
65€°€ 79
00T‘S 2Ll1
€58°% 96T
2% LZ4 !
968 0L
896 99
0ZY‘T z¢
LSTT %%
E¥6°¢ 8¢
0TIS‘9 %%
856 0z
699°T 2T
TCS 4%
€8y 9¢
6S¢€ 44
Kep/ 1/3u
ALINTIVITV

86T

18
S6
YT
06T
9Ls
72t
LL

6.9
TLS
[AYA

£
we/ iy

LT

%6¢C
(44
86

99¢
LT
€29

656°C
6L%
8.2
€€

Kep/#
8y

09y
08°¢
0s°¢
76°¢C
%8'9
88'¢
€L°9T
0S°TT
81°L

NN OO0 O

~
—

00°6
6%'9C
4y 29T IT
0 £€6°¢

~

/3w
d

H

‘s+3°9

S0°'0T
0s°¢s
T VAR
89°0
lz'z
TLe
€2°8
0€"S
ST°6T

VOO0 00O O

0t VAN
T 688
18°S¢
c0°¢
09°1
€0°¢

ooaNxNO

1/3u
Q .mcw.o

00¢
019
009
08y
0S¢
0s¢
0sT
1744
0se

0S¢
0%8
Gz8
089
009
0SS
00¢
09¢
00%

79 -
6°9 -
S'9 -
7'9 -
6'G (2]
L9 0'TT
0°9 L°9
S'9 7'9
%'9 19
9 €L
0'9 69
$°9  T°9
%9 -
qeT PT®TF
nd
c°9 -
1L -
8'9 -
6°9 -
6°G 7'9
L9 0°8
6°¢ 2'9
<9 79
L9 0°9
6°G €L
0°9 9'9
[AN°] €°9
9'9 -
€L 1%
9'9 9'¢G
- 19
qeT PTATF
ud

9z/6
0z/8
sz/tL
6T/9
12/8
oe/y
o€/€
92/t
6z/1
YL6T
Tt/
62/1T
z /1t
8T/0T
€L61

qLva

9z/6
0z/8
ST/L
6T/9
12/S
0E/Y
0€/€
97/t
6C/1
v.61
/71
62/T1
T /1T
8T/0T
T1/6
9/6
6T/L

JLVa

-

A-20




S St N e e D e ey

- - - - wwonﬁ SLT - 0 9 009 98¢ 0% LL 8 6L°T 0€z 9°9 - 97/6
- 116°2 YA - 0 9T 00Z°T €Z%‘T 011 9z z 0%z 09% €'9 - 0z/8
- - - - €52°¢ SLz - 0 1 001 6€9 8L €€ Y 7s°1 0ze c'9 - velL
- - - - 689 89 - 0 T 00T 06L 8L % 4 88T 0Lz %9 - 6T/9
- - - - 196y SLT - 0 9 002 8T7‘T 0§ €11 4 97°§ 0%z 6'S  L°9 TZ/S
- - - - L5€°9 oL - 0 9¢ 00% 0Lz°s 9t 379 9 $8°91 oz %'9 6L 17s
B - - - mmeMN MMM - 0 8z 8€7 qu“m (0] Ly 4 06°12 0T 8'¢ 7'9 og/¢
) - - - - 0 8¢ e 015z € y1€ 4 GGy 00z €9 19 9Z/T
9€0°T 0T SL9°HET 00€°T  9TZ°9 09 - 0 559 Sze‘9 6L2°C TT yTY Y (AL 08T 9 st «N“H
- - 875y 00¢€ 0€8 1 - 0 L 8€Y 419 € IST 0T 08°% 08T €9 99 Tt
- - ¢ 1 NH\N.H
- - wom-mN 00% 196 0S - 0 78 8gY Z10°e 91 €88°T 0T €6°%€ 0sT L°s  9'9  8Z/1T
- - - - - - - - - - T 96 1T 9 €€°0 0S¥ - T'9 6/8
- - - - - - - - - - - - - L'9  6T/L
€L6T
Lep/y  1/3m  Lep/4 T/3m  Aep/j T/8u  Aep/¢ 1/8m Kep/# 1/8n  Kep/yp /3w Lep/y_  1/3um qef PIoT
10 SSANIVH 7os ++ad Te3o0L 24 ALINITVITY 8yd *S°3°0 *0°s ud ALV
(06°6) T 'ON weai3s
% °*oN o1dues
- - - - 9%s (343 - 0 1 00T - 0 68 0ST TI°0 000°T (AL - 92/6
- - - - £y 0stL - 0 T 00¢ - 0 Ty 4 IT°0  STI°T 6°€ - 0z/8
- - - - 00% cz8 - 0 - 0 - 0 S TIT 60°0 00T‘T 6°¢ - v/t
- - - - (443 (929 - 0 T 00$ - 0 19 6 7I°0  S16 Y - 61/9
- - - - 7T STy - 0 T 00T - 0 4 4 81°0 006 €Yy %' TT/S
- - - - 791 00¢ - 0 1 00T T 4 44 89 90°0 0S8 Sy 8% 0t/Y
- - - - 618 00% - 0 T 8€T - 0 (A58 L 8¢°0  00L Sy 9'v  6Z/€
- - - - LT (4719 - 0 T 762 - 0 8€T 8% 76°0 059 'y 9'%  9Z/T
s ot 189°L 006°T 6£9°T 0zg - 0 ] €10°2 0z Y 8¢ 89 $6°0 079 Sy 9% wT/1
Y161
7 (954 LA 00%°T 1:72 qSY - 0 1 76T - 0 %12 ¥zl  T€'0  O%L AL A B A VAA
- - 1€2°¢ 006 6TL 062 - 0 T %1 - 0 6TT 8% 9%'0 00§ 7 8% 8Z/TT
- - L7A S 00L°T szL SHE - 0 1 9% - 0 16T [ 6€°0 009 AU AL 4 B AV AN |
- - 802 0LL 122 0t8 1 002 1 002 - 0 £y 09T S0°0 06T°T 'y L€ TT/6
- - - - 9z¢ 059 T 00€ T 00¢€ - 0 €11 o¥T SI°0 00T°T €'y 0'v €7/8
- - - - - - - - - - - - L9 00T $ZT°0 0SO°‘T - T 1/8
€L6T
Le 3u  fe Su  Aep T/8u  Aep/4 1/3n Lep/4 1/8n  kep/y T1/%w  Lep/y /3 qeT  PIoT3
@\*Hu Y vmmmzam<mﬁ\ \ﬁqOm / ++od Te30L @4 ALINITVITY 8yd *s°3°0 *9°S nd 4ILVA

(TZ°0) 0Z~T ‘ON wesi3g
0% ‘oN ordueg

A-2I



Lep/

Lep/

1~ |

Kep/4

S

# T/3u Lep/ 4 T/3u
10 SSHNTIVH
(20°0) 8T~T0-T ‘ON weailg
7% *oN sTdweg
S'L - -
05T - 00$
- - 09%
- €Y 0sz‘z
# T1/3m  Lep/y 1/3%u
10 SSANTIVH
80S °"ON @danog 3ufoq
¢y "oN ordumeg
44 - -
¥4 LEY 00L°T
- 96T 0s%°T
< 0L6 000°6
T/3u  4ep/y T/3u
10 SSANTIVH
16%% *ON @0Inog 3jutog

Zy *oN o1dues

tatesaiidend

- 0SS
- SLE
- (143
. 0T
- SLT
- 44
Kep/# T/%u
0s
- 008
- 009
- SL9
- SLS
- 0S¢
- 00%
%ZT 0ST*T
Kep/ 4 T/3u
7og
0ZS‘T 0SL°%
L%S 0s%°T
8/0°T 000°Y%
909 05L°¢€
0T 00€°‘T
TLI'T 629°¢
0zt §TT°T
1 §79°¢
LT1 SLTT
- SLSE
- 00Ty
Lep/# T/3uw
Y08

[>NeRol=NeNo)

Lep/ g /80

++3d

- 008°9T
- 0ze‘et
- 096°8
- 0%0°6T
- 0
- 0¥zt
T 002°TT

Lep/# 1/3n

++ad

ST 009°18Y

90T 000°08Z

62T 09€°6LY

9€T  000°0%8

1 009°S

6 00082

7T 095°90%

T2  0%2°%6€

%27 000°%2¢

- 00095

- 000°09¢€

Lep/4 /30

++34

- 00T
- 00T
- 00T
- 00T
- 00T
- 262
Kep/} 1/8n
Te30]5 @4
- 009°6T
- 00Z°TC
- 00L°TC
- 00€°6T
- 00242
- 00L%2
Y TEO‘TY
Kep/# T/3n
ie105 24
787 005°88
002 00§°S2S
0¢T 000°T8%
6€T 000°858
< 005°6Y
LET 000°SZY
72 89€°LYYh
9€  0$6°099
79 0LS°TLS
- 92196
- 000°0€S
Lep/4 1/3n
TVIOL °d

- kA
- 99
- 9
- A
- TL
- 08

- 0s

Lep/y  1/3m
ALINITVNTY

- It
- 891
- 96T
- 91
- 9¢T
- 89T

4 71

Lep/p 1/3m
ALINITVITV

1
[eXeNeNeRe o NN Nl

'
o o

Lep/y  T1/3ua
ALINITVATV

>mv\§w a T/3u
H

T

Lep/yy 1/3w
ud

ozy
ove
8GY
761
(44
Ly
£y
0¢
L8

e
w\*m

H

2T
0T6
00L°T
00Z°T1
00¢
09%°T
008
%26
018

00€°2
066

1/3ua
d

cge3e0

(44 -
02 -
oy -
oy -
9¢ -
8 -

0Z T0°0

“s*3°0

900
£0°0
<00
€00
20°0
90°0
10°0
10°0
20°0

cse3°0

068
006
098
008
0SL
008

00T°T

0S€‘T
008°T
00L°T
009°T
0S9°T
00L°T

00%‘T

"0°s

000°%
00S ‘%
005y
005 ‘%
050°2
05T Y
005°¢
0ST‘Y
000°%

005 ‘Y

‘oS

98T PT®T3

NSO OO0
FFNnNMNMNAN

e i<}
. e
~ ™M

qet

ud

%2/6
0z/8
LT/L
z1/9
ST/S
82/
Y161
6/8
€L6T

aLva

$T/6
12/8
8T/L
8T/9
TT/S
sTly
og/€
61/2
vT/1
Y161
favkAr
€7/8
LT/L
€L6T

qaLva

4V
N
1



- - - - 0S9°T 00€ - 0 6 009T 60¢ 8¢ €€ 9 0°1T Sly Z°9 - 4z/6
- - - - G8¢ 0S¢ - 0 T 00¢% 6T 911 - 0 T€°0 008 'L - 0z/8 ,
- - - - TETT SLE - 0 1 00€ 962 86 8 9T 95°0 szl 9 - LT/L
- - - - 68L 00¢ - 0 T 00T L8¢€ 86 - 0 €L°0 0SL 9L L°L 11/9
- - - - 9¢T°2T 0sT - 0 6% ) 009 S92°2 8¢ %2¢ g TO'ST 0S¢ €9 9'9 ¥I/¢
, vL6T
Lep/y  T/3m  Lep/4 T/3u  Kep/¢ T/8u  Lep/# 1/3n - Aep/g 1/8n  Kep/p T/3u %@v\§w 1/3u qeT PI°TZ
10 SSANTIVH qom ++34 Te30L =4 ALINITVATV Hd *s§°3°9 *0°Ss nd 41va
(68°0) TO-TO-T °"ON Wea13g
Ly °oN e°rdueg
M
(aV]
|
- - - - TL8°T 00Z‘T - 0 < 009°T  06€ 0S¢ 9 V4 6C°0 S79°T 8°9 - %Z/6 A
- - - - 618°C GZ0‘T - 0 Vi 00S‘T 8L0°T 26¢ - 0 16°0 008°T L°L - 0z/8
6 S - - £78°T sz0°T - 0 1 008 LES 70¢ st m €£°0 008°T 99 -  91/L
€T < 14 01T 789°T 059 - 0 T 00¢ S06 0S¢ - 0 8% 0 008°T L L 9°L 11/9
- - 866°Y 09L 0£9°C 0oy - 0 L 000°T TS8E‘T 01¢ 81T 8T AN 00T°T Z'9 L ST/¢S
76T
- - - 006°T - 06€ - 0 - 68 - 00T - (114 - 088 8°9 8'9 97/1T
€L6T
Lep/ 4 1/8u  Lep/# 1/3uw mq@\*q T/3n  Lep/y 1/8n Lep/4 1/8n Lep/y T/3u  Lep/# /3w qeT PToT3
10 SSANTIVH 0s +2a T®30L 34 ALINITVITV 8ud *s°3'd *0°S nd 4Lva
(20°0) TO-TO-TO-T °ON We313S
g4 °oN oTduweg
- - - - - oo% - 0 - 0 - 213 - oT - 019 Z°9 - %2/6
- - - - - 00% - 0 - 00¢ - 9% - T - 00L L°9 - 0z/8
- - - - - QLT - 0 - 00T - A4 - 8¢ - o%9 6°¢S - LT/t
- - - - - Y44 - 0 - 001 - 8y - 4 - 009 9'9  L°C TT/9
- - - - - SLT - 0 - 009 - 9% - ¥ - 0SS 8'S %9 SI/S
- - - - - 0ST - 0 - (334 - 79 - T - 0%9 L9 %9 82/t
€161
Lep/p  T/3w  Kep/4 1/8n  Aep/4 1/3u  Kep/¢ 1/8n Lep/j /80 Kep/yp T1/3u  Lep/y /30 qeT  PT°13
0 SSEANTIVH qOm 24 Te30L ®4 ALINITVATY wma *S°3°0 ‘oS nd ALVA

LT-TO-T °ON wWedaals
Gt -oN oTdwes



e 23 FE | [Ny SRS
- - - - - - - - - - - - - - pa:(ed - - - 0z/8
- - - - - - - - - - - - - - X3a - - - 9T/t
- - - - - - - - - - - - - - Ra - - - 1T/9
- - - - 917 148 - 0 T 00T 1€ L2t 6 v Iy 012 9'¢  TI°L %T/S
v161
8n Lep/yp  T/8u  Lep/y /3w qeT PIoT3
£e /8w Lep 1/3u  Lep/¢ /80 Aep/¢ /80 Lep/¢ T/ - .
w\%ﬁo ! mwmznm¢= qom +34 Te3aol =4 ALINITVATV wma §*3°0 2°s ud FLVa
(80°0) ¥0-TO-TO-T °ON WE33S
1¢ °*oN oTdwes
~ - - - Ve 1944 - 0 T 00Z°T 6L %9 S ' €2°0 0€9 99 - 0z/8
Y S - - Ut 002 - 0 1 006 €Y 0s 91 38 9T'0 05¢ €9 - 9T/L
LT (1) 0s¢ 00z  1I8% SLT T 0 z 00L S9T 09 - 0 15°0 05¢ vl §'S  TI/Y
- - 0%0°¢ 00T - 082°C <L - 0 81 009 06L 9z 19 (4 %9°¢ vz §'s  L°9  wIIS
wL6T
fe /3u Kep/ 4 1/3uw qel PIeIJ
Lep/y  T/3um  Kep/y T/3u  Aep/# T/8u  Kep/# 1/3n Kep/# 1/9n P/ T
o SSANTIVH wom ++=d Te30L =4 ALINITVATY wma ‘S§°3°9 *0°s nd 4Lva
(60°7) TO-TO-T ‘ON wea13s <«
06 ox °rdueg
(4]
|
<
- - - - 9L 0s¢€ - 0 1 008‘c TT 0s 1 ¥ %0°0 o%S L9 - 0z/8
T Sz - - L6 002 - 0 T 009 LT 9 L (2t 60°0 0S% 9°9 - 9T/L
4 S 98 002 gy 001 - 0 T 00S LT 79 - 0 80°0 0sY 9°/ G°L TT/9
- - 768°T 0€T Gov°T 00T - 0 6 009 LO% 8z 85 ' 0L°T 01¢ 6°S 9°9 ¥I/S
vL6T
dep/y  1/3m  Lep/¢ T/8a  Aep/y,  T/3u Lep/y /30 ep/¢ /80 Aep/y  T/3w Kep/y, 1/3W qeT  PTOTF
T2 SSANTIVH 0s ++34 Te3ol a4 ALINITVITIV Hd *S$°3°0 *0°S nd a4Lva
(22°0) €0-~TO-T0-T "©N WE213§
6y "on oTdueg
- - - - 7Lt 00Y - 0 T 006 42 891 - 0 80°0 008 €L - 0z/8
€ Sz - - L0g 00¢ - 0 T 002 L1t ¥1T 71 vT 6T°0 0S¢ 9°9 - 9T/L
L S 28s 00y T6Z, 002 - 0 1 002 S6T #€T - 0 L7°0 0S¢ 9°L 9°L T1/9
- - 8€9°¢ 0LT 01T 00T - 0 6 00% 79 o€ 27 z L6°¢ 00¢ 1°9 89  ¥I/S
vL6T
kep/y  T/3u  Aep/y T/8u  Lep/y T/8u  Lep/¢ /30 Lep/ ¢ /8 Akep/y  T/Bu Kep/y, /3w qeT  PI9TI
10 SSANTIVH ¢om +od Te30L =24 ALINITVATV nd *8°3°9 ‘0°'S nd aiva

(#°0) T0-€0-TO-TO-T °'ON WEa13§
g *oN o7dueg



e L e ALl

- - - 69 (Y4 - 0 T 00S 4 0¢ T Y %100 0TZ‘'T €9 - %2/6
- - - - S8y 006 - 0 T 00T°T 91 o€ < Y 10°0 00S‘T  9°9 - 0z/8
- - - - - ST0°T - 0 - 005°T - 14 - V44 00°0 00S°T  6°G - 9T/t
- - - - - (749 - 0 - 009 - [43 - 9 00°0 L00%°T  L'9 0°9 TTI/9
- - - - 08¢ r4% - 0 € ooz‘e 91 8T S 9 91°0 066 0'9  §'9  vI/S
9161
(50°0) OT-TO-T ‘ON WEdi3g
LS *ON o1dwmeg
- - - - 6C1 00€ - 0 T 009 [44 0s 4 Y 80°0 009 L9 - 0z/8
T (a4 - - S9 002 - 0 T 00¢ 61 09 L [44 90°0 009 0°9 - 91/L
4 S ST [0} LS 0ST - 0 T 00€ €T 09 4 Y L0°0 059 9'9 6'S ZI/9
- - 18€°T 0€T €65°T 0sT - 0 9 009 9L 9T T2 4 L6°T 002 0°9 ¥'9 ¥I/S
. 7L6T .
(TZ°0) 80~TO-T °ON wWea13g
96 ‘oN srduwes
= - - - (x4 fr43 - 0 T 00L Tt ot T 4 L0°0 09% S'9 - 0z/8
- - - - 9T 0ST - 0 T 00T‘T ¢ V44 T ¢t 20°0 744 9°¢S - 9T/L
- - - - [43 002 - - T 002 S 8¢ T 9 €0°0 oty €9 %9 TII/9
- - - - 88¢ 00T - 0 T 00T S9T 8¢ k44 Y 60°T 09T 9 9°9 %I/S
9L6T
Lep/4 1/3u Kep/4 1/3uw %mv\*w 1/3u Kep/# 1/8n Lep/y 1/8n Kep/# 1/3uw mwv\*w 1/8uw qeT PIo13F
T SSEANTIVH 0s ++24 Te30% °4 ALINITVIIV nd *S°3°0 *9°g ud FIVA
(¥T°0) 90-T0-T °ON we213s
GG oN ardues 0
QV/
- - : - - Y YA - 0 T 00Z°T T 4 T 9 €00°0 o%e 8y - 0z/8 |
- - - - 1T SoT 0 0 T 00T T 4 T 8 20°0 08¢ 8% - 9T/L <
- - - - k44 ST - 0 - 0 T 9 T 9 20°0 00€°‘T §°S  v'e  TT/9
- - - - - 012 - 0 - o0ov‘e - 9 - Y - 0S¥y 'S 9'9  %I/S
7161
(00°0) GO0-TO-T °ON Weails
%G *oN sTdues
- - - - kg SLT - 0 T 007 € 0T T Y €0°0 ovy 7°9 - 0z/8
- - - - Ly GLT - 0 T 00€ 8 8¢ € Tt S0°0 00% 0°9 - 9T/L
- - - - (44 00T - 0 T 00T L 43 T K4 70°0 os% %9 0°9 TIT/9
- - - - 8 0SsT - 0 € 009 10T 8T Y€ 9 %0°T 0otTe 6'S S'9 wI/S
7L6T
(10°0) SO-TO-TO-T 'ON We313s§
€G -oN ordmes
- - - - 701 (742 - ] T 009°‘T 62 z6 T Y 90°0 08¢ S'9 - 0z/8
- - - - S8 SLT - 0 T 006 £ 88 9 2T 6070 sC¢ 0'9 - 9T/L
- - - - €TT SLT - 0 T 009 €S 78 - 0 cT°0 00€ L %S TT/9
- - - - 680°T 0S - 0 L 00¢ 99¢ 9t 81¢ 0T  %0'% 061 8°¢  %°9 yI/S
V16T
Bu  Aep/4 1/3u qel PToTIF
Lep 1/8u  Kep/4 1/8u  4ep/4 1/3u  Aep/y 1/8n Lep/ ¢ T/8n  Kep/y T/ P
\*Ho ! mmmzam<m Yos ++24 12307 °4 ALINITVATY 8ud *s°3°D *0°S nd 4LYa

(8€°7) TO-TO-T "ON weaiig
7S 'oN ordueg




T 3 - -
[4 S €T 0s€
- - 9¢T o1
(06°T) 9T-TO-T ‘ON wes13g
€9 *of o7dueg
€ S - -
€T ST 917 052
- - €87°T S8
(90°0) 20-9T-T0-T °'ON wed13s
29 °‘ON ot1dueg
ki S - -
T S s 005
- - LOY T 0ST
Lep/ g /3w Lep/ 4 T/3u
0 SSENQIVH
(ST°0) LI-TO-T °ON wea13g
T9 °oN oTdueg
ks S - -
76 (4 %92°C 009
- - 9vs 9 ove
(£6°6) TO-T *ON uweaxls
09 "oN o7dueg
T S - -
T 01T 6 00
- = 996 L 052
(%2°0) 9T-T0-T ‘ON weaI3lg
65 *oN o7dues
C S - -
v s 12z 00¢€
- - L76°T ove
Kep/# T/3u  Aep/y T/3u
10 SSHANTEVH

(¥1°0) ZT-TO-T "ON weailg

86 *oN a1dweg

67T
[43%
[4%

6CT
8T¢

809
70T
€91
LyT
€LL'E

91z
<8¢
T
9T

Kep/4
7os

S YA
918

69T°T
STV T
€LL Y

Tv9°T
719
869°T
0S¢
€LL'E

09
€C
€IT
€TT
L08°T

Kep/y
Yos

sze

Y44
1743
GLT
0LT
0se

0o%
0ss
Y44
SLT

1/8u

[%4
009
4
GLE
SLT

0S¢
009
0sZ
143
6eT

§20°T
00¢€
00€
0ST
A4

T/3uw

- 0 T 00T

- 0 T 006

- 0 T 000°T

- 0 T 002

- 0 T 00T

- 0 T 00T

- 0 T 002

- 0 1 002

- 0 T 001

- 0 8 00§

- 0 z 00L°€

- 0 [4 0074

- 0 T 00%°1T

- 0 8 668
Lep/y 1/3n Lep/j 1/3n

+H24 Te30% °1

(T 09¢°¢ 8T 00S°¢

- 0 L 008y

0 0 1 006°¢

k4 0Z1°T 11 006°C

- 0 13 00€°T

S 0ZT°T 9T 00% ‘¢

- 0 6 0068

- 0 IA 009°¢

S 087y S 00,y

- 0 09 000°2

- 0 T 002

- 0 T 002

- 0 T 00<

- 0 T 002

- 0 9 00L
Lep/4 1/8n Kep/# 1/8n

++3d Te30] ®1

T 92
0T (1]3
k4 €
¥1 9€
6T 0z
€0T 8¢
¥4 8L
L€ 29
6S 89
79¢ ¥T
09 (48
09 98
6 98
88T 0z
fep/y  1/3m
ALINITVATY
08T 9
8zT 88
€61 oL
112 9
v9¢L 8¢
0sT 43
9 9
6% 44
15 z€
996 z€
8T o¢
4/ 8T¢
Z0T 0.2
%0T 8€T
LST €
Lep/y  1/3w
ALINITVITV

Y 0T
- 0
[4 7T
T 4
K 4
Lz 01
- 0
T %2
S 9
09 Y
- 0
6€ 96
T z
61 z
Lep/y.  T1/3w
8ud
0L b2t
- 0
€8 o€
€z 9
%91 9
YA 9T
8T 8T
78 8¢
11 0T
€Ty k2t
L T
- 0
8T 8y
- 0
%9 8
Lep/p . T1/3m

b ird

80°0
9070
200
L0°0
8T°0

€10

‘510

IT°0
%1070
L0°0
71°0
67°T

cse3%0

SeY
(%]
0L
097
09¢

STe
009
00S
09%
002

088
0z8
008
09¢

00¢
000°T
000°T
056
06%

08¢
0ST T
050°T
006
09¢

00Z°1
008
ScL
002
0se

[ERE]

O~ O H 0
VO nem

- vT/6
- 12/8
- LT/L
ZT1/9
ST/S
YL6T

<
.
QN

- v2/6
- Tl/8
- Le/e
s Z1/9
‘9 ¢T/¢
SL6T

- %T/6
- 0z/s
- LI/t
zT/9
ST/S
vL6T

- vtlé
- 0z/8
- L1/t
z1/9
ST7S
7161

A-26




CSANEC A W S S

- - - - 0€T°S8 GTeT 0S6°C 026°SY 151°¢€ 00L°0§ - 0 GL2°6T 00€ 26°TT 05S°T 0°¢ - sz/6
- - - - 1€6°6€ 0S%°T - 0 06T°T 00z°Ey - 0 988°9 062 T1°¢ 005°C 0°¢ - 12/8
- - - - - €L6°%E 0S6 998 005‘€  00%‘Sy - 0 15762 008 €89 00g‘z  L'T - 8T/L
- - - - L21°98 0S%‘T 29¢°¢ 080°8¢ LT9°€E 00609 - 0 08811 00T 2011 00L°T 1€ 9°¢ 81/9
- - - - S97°6¢ §LT - 0 %892 008°8T - 0 168°0T 9L 67927 000°T %€ 8'% _9T/S
.61
(9L°6) - T ‘ON weailg
1, *oN @7dueg
- - - - - 0ST - 0 - 00€°T - 8 - Y - 04T %9 - 12/8
- - - - - 0ST - 0 1 006 - 49 - 0¢C 00°0 0ST z'9 - L1/t
- - - - 8 0ST - 0 T 006 4 oYy T 9T T0°0 0sT %9 7'9 IT/9
- - - - i8 00T - 0 T 00T 6T k44 € Y ST°0 OTT 8°9 8¢S 91/¢ .
YL6T '
(10°0) Z0-€0~T ‘ON weailg
89 *oN @Tdues
- - - - ~ - - - - - - - - - xaa - - - 12/8
- - - - - - - - - - - - - - x40 - - A T)A
- - - - - - - - - - - - - - xua - - - zT/9
- - - - 6 T - 0 0 0 9 9T 4 7 £0°0 SLT 9°6¢ T°9 91/S
vl61
3u  Lep/4 T/3u qeT  PToT3
kep/g  T/3m  Lep/y 1/8a  Aep/y T/3w  Aep/j /30 Lep/} /80 Lep/y T/ P
10 SSANTIVH .NOm ++94 Te3ol =4 ALINITVIATV : wmu "§°3°9 *0°Ss nd aLva
~
(0970) €0-T ‘ON weai3g N
L9 ‘oN @Tdueg |
- - - - - 008 - 0 - 0021 - 9T - (A - 00€°T [ - 12/8 A
- - - - - 068 - 0 T 006 - 8 - 7< - 0s€°T 6% - LT]L
T 9 [Air4 0SL SeT 00S - 0 T 009°Y Y 9T € 0T GS0°0 00T°T 9°¢ 0°9 Z1/9
- - 88T 0L8 9T SLL - - T 00S T < 7 8T %0°0 00%°1 9% T°S 91/¢8
SL6T
.T0S °ON weailg
99 ‘oN srdueg
- - - - L92 (1199 - 0 T 00s %4 6 - - 60°0 000°T 99 - 12/8
€ 9 - - SL2 qy - 0 1 00T oY (o2 6 yT Z1°0 008 %9 - LT/L
Y S (443 00% T8 00T - 0 € 008°¢ €< 99 S 9 ST°0 00L 9°9 8°¢ T1/9
- - 70€°T 09T LOY oS - - Z 00€ 092 (A3 €€ Y 16°T 0S€ LS %9 91/S
YL6T
(%2°0) €0-T "ON wed13§
G9 ‘oN otdueg
- - - - €202 00T°T £€99°T 0Y9°vZ  L99°T 00L‘%2 - 0 €€7°8 [A4 S 44N 00S°T T°€ - €2/6
- = - - 70 ‘6¢ 0SY‘T - 0 LeY 006°LT - 0 868°¢ 8ST €6°% 0052 L°T - 12/8
- - - - €02°18 0sH‘T 88T 09¢°€E 816 00% 9T - 0 208y 008 6£°0T 00Tz 8°T - LT/t
- - - - 8ST LY 056 444 08y Y 688 006°LT - 0 9h L 0ST 12°6 00T°C T°€ €°€ TT/9
- - - - 6£0°6L 00¢ - 0 0ze‘e 009°7T - 0 96%°6T YL 88°8% 050°t ¢'e A 9T/S
YL6T
Kep/4 1/8u Kep/4 1/8u Kep/# 1/8u Kep/4 1/3n Kep/# 1/8n Kep/# 1/3uw Lep/ 4 1/3uw qeT PTo13
0 SSEINTIVH ‘NOm ++34 Te30L 24 ALINITIVATY 8yd *s§°3°0 ‘DS Hd qiva

(s5°7) T ‘oN weaa3s
g -oN ordueg



1 0T - -
4 ST [44 002
- - 80¢ 0€T
(90°0) 60~%T-TO-T °ON weaiig
/¢ oy ordues
€ 0T - -
T 0s 652 00Z°T
- - ¥9L 060°T
(89°0) TO-TI~T ‘ON weailg
9/ -oN ardueg
L 0t - _
8T 94 T€9 006
- - 6L C 000°T
Lep/g  1/8w  Kep/y 1/%u
1 SSENTIVH
(€0°0) TO-TT-T "ON weailg
G/ °*oN srduesg
(99°0) TO-TT-T "ON wea13lg
4/ °*oN 91dweg
(z8°6) T ‘oON weailg
¢¢ *oN oTdueg
0z Sl - -
11T 0s LSLCE 00L°T
fep/y  T/3u  Lep/y 1/3u
10 SSANTIVH
(00°0) LO-T "ON weaxlg
7L °*oN ordueg

7IT
(44
6T
96¢E

62
78T
8TY
904
€78

826°T
798
1€9
16y
vLy°T

Lep/y

20T°¢
%6Z°1T

[AYA
09Z°¢

96z ¢L
%26°GE
YETTY
TT6YY
LLO*LT

LT15°9
LESY
6Ly
09z‘¢

amu\*¢

0s

SLT
00¢
SLT
0ST

STET
STYT
0SS°‘T
056

GIT T

STET
000°T
SL6
00L
006

1/8u

00€°T
06S°T
00S°T
5z8
STL

0S6°T
SLT T
008°T
SLY°T

/8w

I N~

668°T
9¢T
1€8
6%0°€

LE
68

[45

Lep/#

0 1 006

0 1 00T T

0 1 006

0 T 00€

0 T 00€

0 1 009°€T

0%z A 005°¢eY

ov8° L Y1 00T%9

0 62 00Z°TY

0 T 00€

0 T 008

0 1 00T

0 T 00€

Y T 002
/30 Lep/¢ /30

Te30L °d

09€‘e 9 005°€

0 4 006‘TT

0 15 00€°92
09102 67  00L°6Z

0 6€ 00%°TT
089°€¢€ €6T°C 006°8€
0zL°9 8€0°T 008°%Y
0wz og 80€°T 009°LY
000°9¢ 9z€°€ 00119

0 $TL  00€°0€
00Z°TT 79 00L°ST
08y ‘Y S%  00S°zT

0 vs 009°02
009°¢ z€ 006 “#T
/30 Lep/# T/3n

Te10L 94

+24

[ =1 R

8T 87
1T 00T
6 28
<8 9€
o€ %6
- 0
T 0
- 0
- 0
LT 6
9T 0LT
€0T 09T
STT %9T
£9¢ €T
Lep/¢  T/3w
ALINITIVATV
€11 0L 6
0¢ 8¢ L
Z o 4
8T 8T 8
[4% 0T 0
- 0]
- 0
- 0
- 0
- 0
0€T 6€
9L 8¢
8T 9
89T 9L
Lep/y  T/3u
ALINITIVITV

0¢
912
98
SLT

[4s
6

11
6¢

Lep/4
8 4

€

€
9T‘T
48
7T

06T°82
06%°9
€691
888°0T
TIL Y

08T
00T
90€
LLT

Lep/ g
H

O N

08¢
008
ooY
0s¢

8
0
kA
91
ks

1/3u

009
TET
Yy

00¢
08¢
009
007
007

49
0s
91T
08

1/3u

tge3e0

9% 0T
0e"y
0TS
0T°0T
Le"y

tge1°0

0te
00¢
002
oVl

008°T
00s‘¢
00L°¢
0012
000°T

00S°T
00L°T
00L°T
00S°T
009°T

00L°T
009°C
00%‘t
089°T
005°T

OO O~
ol alalal

qeT

PI®T3
ud

PI®T¥
nd

v2/6
LT/
zT/9
ST/S
l6T

cz/6
12/8
L1/L
61/9
Tz/S
%L6T

sz/6
TZ/8
LT/L
61/9
TZ/¢
Y161

ALV

se/6
TZ/8
LT/L
6T/9
1Z/s
VL6T

sT/6
Te/8
8T/L
8T/9
9T/S
7L61

ST/6
TZ/8
8T/L
81/9
9T/S
7L6T

qLva

©

(a\]
|

<<




o DO et a1t i e sl Dl n S

(60°0) ¥T1-T
€8

(€0°0) LO-TT-T

78
z 4
- 0
Kep/ 4 1/3u
10
(06°7) TI-T
18
z [
S S

(€2°0) SO-TTI-T
08

(£0°0) TO-SO-TI-T
6L

0T
0T

~

Lep/g  T/3w
T

- - 6%¢
- - ST
- - Ly0°z
- - 062
- - 08¢
*ON wea13s
*oN ordueg
- - LTS
- - LL
- - 69
- = 8¢T
- - 207
‘oN wesl13s
*oN a1dueg
- - T6T°T
- - (o14
- - e€ve
98 (0)4 6%
SEL'Y 019 £6%°¢
Kep/y 1/3u Kep/#
SSENTIVH
*ON wesi13s
*oN ordueg
- - 9.6°C
- - 186
- - 88L
916 000‘T  OTY
X4 08z €8T°C
*ON wWea13S
+oy oTdues
- - 943
SL
- - 8L
- - 00T
- - TLL
“oN wea131s
*oN sTdueg
= - 0SS
- - ki
S 00T 8
SLlE 0L 0oy
Lep/4 /8w Kep/#
SSINTIVH

(20°0) L0-%T-TO-T ‘ON WeIal§
8/ -oN aTdueg

T4/
SLYy
Y4
(Y44
STt

059
SLE
SLE
[ Y44
osy

1/3u
os

002°1T
00€°T
GTI T
SLL
SL9

009°T
00%°‘T
0s%‘1
943

00€°T

002
113
0ST
SL

/3w

Lep/#
+24

Kep/j
+424

009G

08712
0%0°6T
0ze‘eT

[oNoleRole)

[eNoNoNolo]

1/3n

ooCcoo

[=ReNeNeRe)

1/3n

4 0068 T Y
1 00942 6T 09¢
49 00%°6T LL 9%
S 00€°6T - 0
z 00L‘s - 0
- 0 zet 86
1 00€ 8¢ ¥€T
- 0 8z U
I 002 <zt 8LT
T 00€ 891 70T
T 00T 8T 0T
T 00T‘T ¥ 8L
- 0 €2 9€
1 002 L vE
Y 006 29 8
Kep/4 1/8n  Aep/y 1/3u
Te30] @4 ALINITVITY
1 009 49 44
1 00T‘T St 0z
T 00% 8T 9z
T 00§ 8T 07
S 005°T €21 8¢
1 00€ - 0
T 009 - 0
1 00¢ - 0
T 00T T ¥
T 009 - 0
T 00T 19 0z
1 00z S vy
T 00€ Y 99
4 00€ LTT [44
Kep/ 4 /30 Lep/4 /3w
Te301 °d ALINITVATY

£e
v\*w

0T

€T

[44

T
€
60T

Sy

ST
6€

~Oh AN AN

LT

T
T
11T

£ep/ig .
H

nd

08 S0°0
8¢ 10°0
8¢T T€°0
091 S0°0
Zt¢ 9070
8 €270
0 €0°0
0 €0°0
0 €170
8 00
[4 vE0
0 10°0
4 4 SN}
[48 %0°0
T LAANS
1/8u
“sv3°0
8T 9%'0
9 7170
9 €T°0
91 L1°0
CT 09°0
oy %0°0
8¢ 10°0
8¢ 10°0
98 20°0
08 11°0
9 1670
- MOTJ ON
9T 20°0
k4 10°0
4 66°0
1/3u
<st 30

028
S8
0sL
00L
006

0007
002°C
0007
058°‘T
006°T

0zt

09T
0sT
00T

OO O
'al =N g}

qe1

PT®T3

ud

97/6
61/8
€T/L
8T/9
12/s
7161

9t/6
zz/8
ce/L
61/9
€e/s
7161

92/6
T/8
st/L
61/9
€2/S
7161

qLVA

97/6
1Z/8
ST/t
6T1/9
€2/s
w161

92/6
T2/8
s/t
6T/9
€2/s
vL6T

vZ/6
12/8
LT/L
T1/9
ST/S
vL6T

arva

R

A-29



i

——

- - - - €T
- - - - A
- - - - FIA A
- - - - £€°76
(90°0) 9z-T "ON wea13g
68 °"ON @1dueg
S Sz - - 6%
91 S 8T€E 00T oy
- - 8L6 0ST 8.6
(L%°0T) T 'ON wea13ls
88 ‘oN ardues
- - - - 879°1
- - - - 96L
61 S L - - 789
6% L $69 00T $69
- - €0€°¢ 091 L60°€
Kep/4 T/8u  Aep/# T/8u  Lep/y
%) SSANCIVH 70s
(80°0) Gz-T 'ON weails
18 -oN oTdues
- - - - 8
- - - - o€
- - - - 1€9
- - - - 0€
(€T°0) %T-T °*ON ueailg
9g "oy ordwes
- - - - £€9€°T
- - - - T9S
8 0T - - yEY
9 4 172 00$ €5y
- - 98T T 0o% TT1°T
(Z1°0) 7Z-T 'ON wWeailg
Gg °oN erdues
- - - - 274
- - - - 10T
- - - - 19
- - - - 1¥43
- - - - 902
Kep/y  T/3w  Lep/y T/3u  Kep/y
i) SSENTYVH %0s

(%2°0) 9T-T1 °ON wea13g
¥g *oN ordueg

0se
A4
0sT
SeT

8ST
144
k&4

06T

00T
SLT
44
00T
0sT

1/3u

0S¢
SLe
144
GE

SLS
099
SLS
00¢
GLE

0s%
SLE
SLE
0se
144

1/3€

o Lo
0 0 T 006 6 79T
0 0 1 00T 8 791
0 0 0 0 19°0¢ TYT
0 0 ST*0 00z 78'25 0L
- 0 T 00L 6S ¥8
- 0 T 00€ o1 oL
- 0 T 00T 84T 8L
- 0 4 00€ LR (47
- 0 1 00T LO% 0S
- 0 Y 009°T Lz 06
- 0 1 00T [XA4 98
- 0 T 00T T0$ 44
- 0 A 009 978 oy

Lep/# 1/%n Aep/ 4 1/8n  Lep/y  T/Buw
+od Te3loL a4 ALINTTVITV
- 0 1 00T € 08
- 0 1 005 91 84T
- 0 z 00L 76¢€ oY1
- 0 T 00€ 8L 06
- 0 - 0 93 oy
- 0 1 00¢ 9¢ Ty
- 0 T 00T 2] 09
- 0 T 002 90T oL
- 0 T 00€ [Aas 8y
- 0 T 005 vy 8
- 0 T 00L°T 2% 9T
- 0 T 00$ 9 8¢
- 0 T 00€ (44 v
- 0 T 00L S 01
Lep/4 /30 Lep/y 1/8n  Lep/y 1/3u
+ed 1301 94 ALINITVITY

\O O

S9
184
0L
£8

Lep/y_  T/3w
8yd

€€

0 N

T
8T

8¢
4
9
67
6T

£
wv\mw

H

O N O

&+ NSO

< O 0O X

0L
8

k43
[43
oy

1/3u
d

“se1'0

*s°3°0

otTe
0TC

06T

052
00¢
(044
061

052
SLY
00¢
092
o%e

00¢
0st
062
ST

SeL
0S0°T
068
006
0s8

0TL
0.8
099
006
006

0°L -
6°9 -
89 -
€9 S'9
9°9 -
L°9 -
8°9 -
'9 S°9
79 -
S'9 -
S'9 -
L9 -
€9 676G
qeT PIST3
ud
L9 -
9°9 -
L9 -
29 T°9
19 -
T°9 -
2’9 -
279 -
0'9 0'9
9°q -
1°9 -
N-m -
Ls 1<
TS 9°'¢G
qeT  PTI®TF
ud

ze/8
we/L
61/9
1z/¢
7161

zz/8
wZ/L
61/9
12/¢
7L61

92/6
zT/8
9T/l
61/9
12/$
9161

qrva

92/6
vT/L
61/9
12/S
YL6T

9z/6
z7/8
wT/L
6T/9
1z/s
vL6T

9Z/6
6T/8
€T/t
8T/9
1Z/S
HL6T

arva

A-30




L.

- - - - L SLT - 0
- - - - <8 YA - 0
- - - - 96€ 0ST - 0
- - - - 98 oy - 0
(00°0) 80-GZ-T "ON Weai3g
G6 ‘oN ardueg
- - - - k14 (444 - 0
- - - - 6 x44 - 0
- - - - €L (44 - 0
- - - - 08 oY - 0
(Z0°0) 90-6Z-T °ON wea13g
%6 "ON ordues
- - - - L6 VLA - 0
- - - - £29 SLT - 0
6 S - - LLE 00z - 0
09 0T L0T°T 002 8SE°T Y44 - 0
- - 7556 066 T8 S8 - 0
Lep/y  T/Bu  Kep/y /8w Lep/y T/8w  hep/y 1/3n
) SSANTIVH 08 +od
(T6°0) GZ-T 'ON weails
€6 °"oN oTduweg
T S - - [4 002 - 0
4 z St 001 St 00T - 0
- - 952 oyt 99 o€ 0 0
(0%'0) 20-GZ-T °ON wea1lg
76 °'OoN ardueg
- - - - 827 0S¢ 0 0
18°0 S - - Ly yy V&4 0 0
62°T € ZIEY 00T 89°%9 0ST 0 0
- - 16°L9 09 96°€€ (113 0 0
(70°2T) T °ON wea13g
16 *ON °1dues
- - - - - [x44 - 0
- - - - 8.1 [ 0 0
- - - - 18°62 9T 0 0
- - - - %9°062 St 0 0
Lep/gp  T1/3uw  Kep/y T/8u  4ep/y T/38  Kep/y 1/8n
0 SSANQYVH 70s ++od

O~

—

S B IS o]

Lep/ 4

00%
009
001‘¢
00T

006

00T
00T

009
009°T
00T
00T
00%

1/8n

TeI0L 9

T
0
7€€°0

Lep/4

00T

001

0021
007
001
00¢

00T°C
00T

0

00T

1/3n

1B30L °1

z 6
6€ 0T
11 4
86T 26
€T 91T
44 91T
€ 00T
€81 6
€11 :¥4
€T 8¢
90T 9
124 4
1434 'r4
Aep/  T/3u
XLINITVATY
9T 00T
LS 91
26 05
54 z81
€L°6T zeT
ARk 00T
08°6% 77
- oL
09 26
99°6TT  #L
60°L9T  0S
Lep/y 1/3u
ALINITYNTY

(LI°TT) T °"ON weai3s
06 ‘oN ardueg

8¢
€T

T

ZT

LS

ki
k44
6€

Le
v\*w

~ o

L9
S§0°0¢

Lep/j

ud

0 %000
0 L0°0
(44 6%°0
9 ov'0

TN O
—

%)

o

o

1/3u
530

< NN
~
—
o

T1¢0°0
€0°0
80°0
1¢°0

0€e
091
00%
0SsT

00¢
052
00%
052

08¢
6es
0Te
0ze
0s¢

0ST
oyt
AN

002
09T
0ST
0ST

set
0sT
S6T
01T

@ 00 O
WO OO

M N0 O
O OO~

0°9

%°9

PTaT¥
ud

L9

%9

PT313
nd

ze/8
wT/L
6T1/9
12/S
7161

zz/8
v/l
6T/9
Tz/S .
YL6T

92/6
zz/8
we/L
6T/9
12/8
vL6T

qLVa

A-3l|

9T/l

61/9

12/8
YL6T

zT/8
wT/L
61/9
12/s
Y161

ze/8
we/t
61/9
12/6
%L6T

qrva



(43 00¢
- - 8¢ 0S¢

I
o wnm

QTS °ON uea1lg
T0T °oN ofdueg

1
{

18 00¢
€8T ove

—
™ N

606 °ON wea13s
00T ‘oN oTdweg

Lep/4 1/8m Kep/ 4 1/3u

15 SSANTIVH

(00°0) #0-8T-T °ON weails
66 °‘ON o1dueg

(00°0) ZO-8T-T °ON weai1lg
86 ‘ON ofdues

20¢ 008
8¢ SOT

N
1 oun

L0G °ON weslilg
L6 °ON oTdmeg

Lep/j 1/3u Kep/# 1/3u
0 SSANCIVH

(Z%°T) GT-T "ON weailg
96 'ON oTdueg

18
6T
98
LT
67

61T
LL
LS
YL
€8T

SLL
162
8%
1834
666

Lep/4
Yos

(449
8Ye
%26
Sye
62¢

19
20T
€T

Lep/#
o0s

00S
0S¢
0o%
14
§9¢

0sS
0199
(1193
SLT
o%€

SLS
009
STy
0sT
STT

1/3u

06T

0se
Y44
00T
0sT

T/3u

i

[

; 0 : o
- 0 T 00L
- 0 - 0
- 0 T 00T
- 0 T 002
- 0 T 00T T
- 0 T 00Z°¢
- 0 T 00T°T
- 0 T 00€°T
- 0 T 009°T
- 0 T 00T
- 0 T 00%
_ 0 - .
- 0 T 009
- 0 44 009‘z
Lep/4 1/8n Lep/4 1/8n
+o4d 18301 °4 .
- 0 6T 00T‘T
A 0%0°6T 61 005°62
0 0 0T 00767
8 080°0T LT 006°22
4 08%‘Y 6 006°‘%2
- 02Tt S 005 8T
- 0 - 00g‘e
- 0 T 009
- 0 T 00T
- 0 T 00
Lep/# T/8n Kep/4 1/8n
+3d Te10L 21

b

€ 9T
- 0
- 0
- 0
- 0]
- 0
- 0
- 0
- 0
- 0
1T 06
6 06T
6T 08T
%0z 81T
Q98 9¢
Lep/y  1/3m
ALINITIVATV
768 4
- 0
= 0
- 0
= 0
- 0
- 0
8T 70T
8 8
- 0
Lep/y  T/3um
ALINITIVATV

it

N N0 AT

1€
ks
9T
8¢
9%

[43

€
9TT

Aep/, T/3m

€0T

244
€0T
e
ST
68

144

&
mv\*w

9T €0°0
0t 10°0
0¢ %0°0
[4% 20°0
0s 20°0
9T %070
70T 920°0
09T €00
o¥T  <0°0
98 0T°0
k14 sZ'0
0 60°0
0 0Z°0
4 €0
7T ¥S°1
Hd *s°3°0
9 61°¢
9L¢ - TT°O
0ze  90°0
ov?  ¥1°'0
00%  L0°0
0ge  S0°0
97 -
0 $0°0
Y 6T°0
9z 0e'o
T/3u
Hd *8°3°0

SL9
018
STL
0z9
059

SLL
056
006
0.8
008

008
00T°T
056

0se

osy

008‘1
006°‘T
STL'T
009°T
00%‘T

08¢
08¢
oyt
06¢

£°9

MO O~
O~ M

qet

R

PToT3
ud

o o~

0°s

PI®TF
nd

92/6
61/8
wT/L
LT/9
/s
7L6T

92/6
61/8
9T/t
L1/9
ze/s
w161

97/6
6T/8
€z/L
L1/9
€2/s
vL6T

arva

A—-32

€T/t

LT/9

€z/s
7L6T

9z/6
6T/8
v/l
L1/9
ze/s
7L6T

T/8
ve/L
6T/9
12/S
vL6T

HLVA




- - - - - 0sz'e - 0 - ooz‘oz - 0 - 08¢ - 00€°‘E 1€ - sz/6

. - - - - - - - 00S ‘Y - - 12/8
- - - - - 0sz e - 0Z1°T - 00192 - 0 - T 00E°‘T - 00T‘% L2 - 8T/L
- - - - - mnmnm - 09€°¢ - 00L°TC - 0 - 009 - 00€‘e 6°C 6'C 81/9
- - - - - AN - 0 - 00S°L - 0 - 8TY - 00€‘e 1€ 0'¢ 91/S
00T*‘T - 0Z1°1 - 8€Z°0T - 0 - 00€ - - 0°¢ - 2/
- - - - - 09%°1 - 00Z°1T - y90°€T - 0 - [4%3 - - '€ - L/t
- 0s2 - 008°¢€ - 008°T - 0 - 262°01 - 0 - 86¢ - - z°€ - TE/T
%161
00 ‘oN 82anog Jurog
00 °‘oN o7duwes
- - - - - 00y - 0ZT°T - 00%°9€ - 0 - 00€°‘T - 009¢% 0'¢€ - <z/6 .
- - - - - - - - - - - - - - - a - - 0z/8
- - - - - 086°T - 0 - 00€°€6 - 0 - o0o%‘t - 006°S 94 - 8T/L
- - - - - SLe'y - 009°S - 00T€S - 0 - 00Z°T - 000°S 9'z 9'C 8T/9
- - - - - 0SL°€ - 0 - 005°8€ - 0 - ottt - 050°Y 8'Cc L'T 91/S
- - - - - [YARS - ovee - £99°92 - 0 - 009 - - 6°C - /Y
- - - -, - 005°€ - 0 - 002°L9 - - - %65 - - 0'¢ - Le/e
- 052°T - 00% Y - 000°% - 0 - SLL 9T - 0 - wLS - - T°€ - 1€/
. 9L6T
kep/y  1/3mw  Kep/y T/3w  Lep/4 1/3u  Aep/# 1/3n Lep/ 1/8n 4ep/y T/3m  Kep/y  T/3w qeT  PISTF
10 SSANTIVH Y0s +od 1®30L °4 ALINIIVYTY 8yd *s°3°D *0's Hd ALVA
O *ON 224Nn0g§ 3JuTog
0 -oN oT1dueg (%o}
\p]
- - - - o8 009 - 0 T 001 - L9 8y 6€ 4 92'0 ST6 1°9 - €2/6 |
- - - - €ee SLy - 0 1 00S 9s 08 9 8 €1°0 00T°‘T 9 - 1Z/8 <
L 944 - - 784°T 05§ - 0 ¥ 00€°T 62T 8% (2] 9T 05°0 096 6°G - LT/L
€ S €76 00§ 012 [¥43 - 0 - 0 49 08 S 8 Z1°0  000°‘T L9 9'G 8T/9
- - - - - - - - - - - - - - - - - - gz/s
7L6T
(0870) ¥0-T °"ON wes13g
%0T °‘oN aTduweg
- - - - €L (Y44 - 0 T 006 129 99T - 0 90°0 0S¢ "L - 6T/8
4 <L - - 6% a4 - 0 - 0 z€ 0ST - 0 %0°0 Y4 0L - €T/L
09 0T L0T°T 00T ™ €L - 0 8 00%°T 709 00T L 9 (4 [ar4 9'9  9'9 [T/9
- - LE0°T 0¢T 61¢ oy - 0 € 0o¥ 6Ly 09 08 0t 8% 1 00t 9'9 0'9 €Z/S
: %L6T
(6£°T) 8T-T °ON Wea13lg
€0T 'oN ordueg
- - - - 99 SLT - 0 - 0 [%4 09 8 0z L0°0 012 S*9 - 97/6
- - - - oY 052 - 0 T 00T°T 48 9L T 9 €0°0 0S¢ T°9 - 6T/8
- - - - Lz [1[34 - 0 1 009 S oY T 9 20°0 %t T'9 - €T/L
- - - - 6% (Y44 1 0 1 00T ST oL 4 8 %00 ove 9 99 LT/9
- - - - LLT 08 - 0 T 009 891 9L k44 0t ™0 062 $'9 §'9 €7/S
7L6T
Kep/4 1/8u Kep/# 1/3u Kep/# 1/3u Kep/# 1/3n Kep/# 1/8n Kep/ 4 1/3u Kep/# 1/3u qeT PIoTd
10 SSANTIVH 05 +ad Te30L 94 ALINITVITV 8pd *s* 30 *0's nd q1va

(0T°0) 90-81-T °ON weaa3lg
ZOT °oN ot1dueg





